Part-1/91-1
Compulsory / srfvar

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their |

individual need.

(C) To provide them equal opportunity ;

to grow. )
(D) To behave with the students equally

without any discrimination of caste, |

gender etc.
NI - AT < sk § o THa & 2
(A) I B & T THH SEER BT |
(B) 3Teh! RN ITERIRAT o AR
378 TERIAT YGH AT |
(C) 3 Tershral o FHH S8 &M LT |

(D) wifd, fom 3mfe o Sewre & fomm =i

o 1Y YU SGER HEAT |
The primary task of a teacher is .
(A) To stimulate, motivate and guide

students’ learning.

E(B:g To teach good habits in students.
textbook units.

(D) To satisfy the expectations of the
principal, parents and society.

e T1e7es o1 Tmfires e B

¢ | ¢
(B) ©THI I AT 31Ted @ |

(A) BT % T 1 Tiedtea, Ia 31t
ATTed n

(C) Treif@  wgmsEH 3R ‘J@W

SRSl hl YSHT |
(D) JuHEE, Amar-fyar 3R Fu 6
JTUEATSHT T I BT | (A)

What is the level of the following questions ?
like — ‘Prepare a diagram on ’
‘Explain the components / parts of ........ ,
‘Conclude the characteristics of .......
A) Understanding level

B% Analysis leve%

C) Creativity level

D) Application level
S 8?7
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To teach the prescribed syllabus and ;

L 4.

6.

was the educationist who gifted
Kma1 grgarten Education System to the
world.

gAg Gijubhai EB% Dewey
C) Herbert D Frqebel

9 fogiH ghan
Tehgamd farem yorreft =1 3ugR feam o)
(A) Troprs (B) =ft
(C) TN (D) ®iEgA

MOOCs must contain the four quadrants

as 1?er SWAY AM guidelines.

Which of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audio), self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certification

SWAYAM % fean-figen & @R

MOOC # =R i BM =R |

frefaRaa o @ = @1 31 Tguf i &

Tt 3 IR B 2

(A) 3-ZEiEe (dfifea), $-e (v8T
qra) , E-HeATeh G&0T, TS
T ) . -

(B) - (Je7 @), -
(dfifea), T =4l HE (BRA),
- TR qEu

(C) 3-eFe (Yo wmfl), $-TFeied
(Eﬁ%a)v g_w (3“-%-&:[), -
3 ?{aﬁ;ﬁf?aﬁ%ﬁ) -3 (

(D) A% y RT 93
), A == T (BRE),
ST FeaTeh 37 JHToH

Plagiarism is allowed by UGC

according to the latest rules and
regulations by UGC.

FSiEl g e Feml ARt %

ggﬁ_q oifeferes =
( = )Eﬁ?"ﬂqﬁ%l
(A) 05 % (B) 10%
(C) 15% (D) 20%
m]



10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
frefaRead & & &9 @1 o MY H
IR T & 2

(A) JG-T0H  (B) Helw

(C) =Tt ST (D) Hehfgd TG
Which of the following

you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

EA) A Variance Test

B) A Parametric Test

(C) A Non-Parametric Test

(D) None ofthese

GiaaTS e TR qehrileh T UM
%HTeh 94 T 3R 15 | A 2T o foT¢ 3
= 9 @ *F & g Fifessht ga
TeryeTwoT qehHieh T ST il 2

(A) T Tereror qdieqor

(B) T UTelfeteh Ti&Tor

(C) T AuTafetsh Tdeqo

(D) T4 & I3 &I

Which of the following is NOT a useful
software to anal;/se the data obtained
through research “

(A) Microsoft Excel (B) SPSS
(C) SSPS (D) PYTHON

IHYE % W H Rl JfREl
Teryetwor s o fore fmforfaa & @ o @
TR ITANT & & 2

(A) HTSshIETH Tael (B) TadTaTd

(C) waugdied (D) U

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview
(D) Impersonal Interview

HE GT YR FAEIH |
“ATATeh R o YR | Haferd T8l 2 2
(A) TIT GTRATEh
(B) &I HIETTeh R
(C) Aafeher TR
(D) ITIfekTeh TR

e : inferential |
statistics data analysis technique will

' among high
i hopelessness among people of all ages as well as

Read the following passage and answer the
Questions given below : (Q. 11-15)

The scientific and critical mind of India
must be reawakened from its slumber. The
ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the

i importance of our earthly life. In fact, opulence,
i inner and outer, was the driving force of this

culture. But for about a Millennium and a half
now our culture has let go of this fine balance and
§ot trapped into the ascetic denial of our terrestrial

fe. Wlth this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system is that it 1s gravely denationalising. No
German education would be regarded complete

. without a good acquaintance with Goethe, but
Indian education has no such concern about the

sources of our culture. It is ironical that Indian
education is uncritically trying to emulate the
West just when the West itself 1s going through a
crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as 1t faces mounting
problems %drug addiction, teenage pregnancy
school students an existing

a social organisation that sets a 1prermum on greed
rather than on compassion and lo

IFTE i UfeT IR i feu TTw st
& IW AN : (. 11-15)

A h o1k 3TN ST AT i
3t fie O T & SO Bem |3ﬁ‘cﬁ3ﬁx3’qﬁﬂ§
FIW 1 gfe T 3T T=iF SR il
wﬁmsﬁméﬁﬂﬁﬁwqﬁ%m|
ﬁ%ﬁi fiqdl st saawldéﬁui%mﬁaﬁl
c'1|°h-| 3T T $G HEEIS) ﬁ%ﬁﬁﬂ@%ﬁw

TqeH I Bie AT & 3T R wrehd Shed
Wwﬁwnﬁ%wﬁwﬁnﬁrw
RIAT T Yo I[E B T | SaEE e yomedt s
ﬁwaﬁﬁﬁmwﬁﬁs%ﬁw —fenifém o
3R VS SHMT § | T, sheged 3R wefiH o feat

ﬁd‘l&%%ll%é&l%q%:ﬁmﬁwwéﬁ
| YO gR § S 38 TREN H G T o -

3

| gfrer, SIS, AT 31T S SR 9T - et
| 3 | e e o Sht gEra iR 2 7 2 7w
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0 71 5, e e T e S

LI 3 Taer § fowad & Hehe W o @ 8 | T8
AT A HE @1 2 o a1 TTerd 21 T § ik 78

Feficft qanatl bt o, 7 The o W o i foRsiR |

e, Gt W S AT oh HTU-H1Y Ueh HHISh

TG o i Teh HIS[GT UM <ht el HHeai i

T L TGT & ST e 3R 30 % 9T ollerd W)

e wfid g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise N (D) None of tggse

39 HF=OE b @ AT HEhicl hl/hl

T T8 & |
(A) Tfed  (B) sl
(C) e (D) S8 & ig 7
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values_ (D) None of these

T IS W U weg b 31 7

(A) wrifa (B) &

(C) T (D) $7H | P13 &

13.  Which of the following is NOT an issue |

faced by the western society as per the 16

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

ffetfigd & & S a1 Iwied I<0e & |

FHR afes) wHrS grRn aET foRar S

AT e T8 & 2
(A) TRl & s foramg g 9 day
B) faf= =mm

(C) garem

(D) $9eR ¥ forgam <t et
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14.

15.

“No German education would be

regarded complete without a good

acc(]iuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None ofthese

%ﬁnéi T?fg = i ég fortt 1g oft S

&1 901 T2 A ST 8 17 3=0s i 36

Yfed ¥ 319 1 GHEd & ? .

(A) e S RTeT JoTiet <hi S ST g |

(B) TR S Shefleh R TS} <hl T8I A ¢ |

(C) v fiem o sl 3R E&hld &
R RIE G

(D) T8 & IS T&

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient
language and literature of India.

%Allofthese

% R, M fem  womef

FUYRIHOT R G g RATh

(A) I 9Rd  HEM R9AT 3 Fll b TN
T 7t formrdt 2 |

(B) I YHd % HEH HeAhRl & R § &l
Tt 3

|

(C) € HA =hl AT=f AT 3R @Tfecd

IR H T Rt 2 |
(D) I8 a9l
A conference or a meeting or even a
mela or procession is a ‘communication
event’, newspapers, radio, cinema and
television are ‘communication media’,
phones, computers, satellites and the
mternet are ‘communication .
(A) spaces (B) media
(C) technologies (D) process
Teh G I1 T 3 I F&! e {h Th
Tl I SIH Th TR A B, HAER-
T, UeAl, B s eofifes E@=n
w8, WM, HX, IuE AR 3L

“TER B
(B) tifean

(A) ITaTA
(C) Srenfifrat (D) wfska




The  Interpretation  process  in
Communication takes é)lace in
(A) sender message
(C) receiver D

channel

AR H ST GiRAT (FHSH T )

g1
(A) ﬁ&% (sender)
(B) e (message)
©) ELSE (receiver)
(D) EER (channel)

What is of greater concern is the effect ;

of > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.

A) Stereotypes

B) Generalisation

C) Desensitization

D) None of these

SN Fferep fefan w1 fomg B, @8 ol
TTE 7, S HRIsHT, THTER 3T BT J

e % @ W IR-IR fe@m *

TGS Bl Tehdl & |

(A) Sfgarfed (B) W=t

(C) FEIFT (D) TH & 1S TE
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gt 3due, =rfeaas

d-ld I(;bH°b 3qladyl % ?
(A) TR (B) SIifeeh ser
(C) Hed wH (D) WTEATcHe STEN

Gestures, Grunts and Grimaces are

examples of

(A) Evolution

EB% Non-Verbal Communication
C) Noise

(D) Verbal communication

, ST STR g ST fohwieh 3aTatuT & 2
(A) o B) fi-rifigsh =R
(C) IR (D) Hiflges T=R

Find the missing number in the given

series following the same pattern :
3 TTE AfEer § wHH
I FE&AT TG hIT :
18, 24, 84, 294, 798, (?7)
(A) 1682 (B) 1788 (C) 1867 (D) 1932

Shyam bought an old Honda Bike and
spent ¥ 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for ¥ 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I 3 T U1 BieT S15eh GHieT 3T Seh!
A | 2 1,500 @ fopU | R o 4 58
& Bl 20% o 19 W o9 fear | Ugd 3
3 g I 10% I &1 o= foam | &g 4
HATRITHR 38 T 12,100 T 10% b 9 T
99 feam| vam 3 gt gier ags & for
feReHT (3 H) STaH fohalT 2

(A) % 8,600 (B) ¥ 8,685

(C) 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
n/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

T TUeieE P, Q SRR Th &l fag W g | P
ws fog @ 40 tex/fime &1 wfd & e
IJE Ha g | 5 e 918, Q, P & I
50 He/ firre st i & ST IE T 2 |
iy &, R ot P& 1 60 Hier/fme 6
T & ST IE T & | P ol Tohed WR

Jfeafi gl (e d) g2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

gl IEfigaRi o o= T AT H, T i
el SIol T A/l T 82% I 3T 3R
3G 3840 Tl o TgHA ¥ FATE Siid form |
Jfe I wa U= =i T foham S 2
T STl T Wl shi ot T FT R 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000
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25.

26.

27.

Read the following information carefully
to answer the question given below :

(i) X * Y means Y is mother of X.

(i) X +Y means X is brother of Y.

(iil)) X — Y means X is sister of Y.

(iv) X/ Y means Y is father of X.

Which of the following definitely means

that ‘P is grandson of Q’ ?
= fou
frfeiiaa SRl w1 STy 1¢
HX*YRIFRY, XFHITTR |

() X+ YRIATEX, YR WER |
(i) X - YR ATEX, Y R T2 |

(V) X/ YR AGRY, X1 Ui 2 |
freferRaa o & forgent Fifvad ®w @ aned 2
6 P, Q&TUETR 2

(A)P*H/Q

(B)A-P*H/Q

(C)A*P*H/Q

(D) None of these/ﬁ:lﬁ ﬁﬁlﬁé:@

Consider the following argument :

Major Premise : No squares are rectangles.
Minor Premise : All rectangles are circles.
Conclusion : Some circles are not squares.
What is the Mood of the above proposition ?

frforfad aeh X fomm g

g@am—m:aﬁé%ﬁaﬁmqﬁ
|

Y MR- : Tt 17970 I & |

ﬁﬁﬁézﬁlp_@ FIAEE |

Wwﬁa@wmw%?

(A) EAO (B) AEO

(C) AIE (D) EAI

Choose the analogy that best matches the

example provided.

SOOT : GRIMY

(A) RAIN : SODDEN

(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT

ey 3131 4 @ral &l |
it : Bl
(A) a9 : W-TR

(C) 9Tl UReEt (D) Yot s
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T U H IW o % oY

(B) 3TTEXTT : YShieAl

28.

| 29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows from the ilt\lfen statements,
disregarding commonly known facts.
Statements Some questions are
answers. Some answers are writers.
All the writers are poets.
Conclusions :
Some writers are answers.
II. Some poets are questions.
III. All the questions are poets.
IV. Some poets are answers.
A) Only I and II follows.

B) OnlyI and IV follows.
Cg Only IIT and 1V follows.
D) Only II and 11 follows. .

T %Y fer e IR
HYAT % a1 TRy feu e g | 3Rt fer
T 1 gF AT B ERSERIG]
Tt ¥ 1 Wl gid & | %] I AR
ﬁ»‘{ﬁuﬁﬁaﬁﬁsﬁ%rgaﬁwﬁﬁﬁaﬁq
g1 | A qet &1 L ge,_feu

H : D TH TN S | B I AT @ |
?1@%565%[%@

I &9 ofgsh IS |

1. %ﬁm |

I G I S g |

Iv. SWE .

(A) T 3T 1T 3801 L 2 |

(B) hadl [ SRV ST LA & |

(C) shaet I 3R IV ITTH0T Ld ¢ |

(D) et 11 3R 111 ST i & |
‘Whoever thrusts a fe into another
person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

e

gaL Ak I dlt.ﬁl{ﬂ'd%qﬁ ﬁr{g%qﬂ




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the |

classes of individuals.

(c) It can be said to exist between two things

ifthey are related as cause and effect.

(d) It can be said to exist between two things
ifthey are related as species and genus.

options given below :

(A) (a), (c) and (d) only

(B) (c) and (d) only

(C) (b), (c) and (d) only

(D) (b) and (c) only

Y JUMel o IHR MM (FEAM)_h

He # FefARad A T A FAT HA 8 2

(a) T had ¢l AT o Se GaY ST
AL | y

(b) T& SRR Tl b i Tae] b AT & |

(c) %a;f%ﬁaﬁsaﬁaﬁ—@mmm%

T Y o &9 H GRS |

@ R A die B v R § |

TR B A o TIRRT 3R 99 o &Y
T geted & |

e few e foreredi § & & S == hifom ;
(A) %5 (a), () FR() (B) e (c) N (d)

(C) %= (b),(0)

y different persons.

Read the table carefully and answer the questions.

(Note : Calculate simple interest unless specified
and all questions are independent of others).

Y. 319 35 ; A9 & 7S arferen ai safeaEr g

fopu Tu fAasr 3 9N T T Yo Ll B | drfereRt i

3R(d) (D) e (b) 3R (o)

g. No. 31 to 35 : The table %)iven below provides ,
ata about investment done

ST T 3 S H TR E |
(AT : FYRT AT I 70T B S qeh Ffgg T 8
St ad o et & e 1)
Person Rate of| Time |Principal| Amount
fF interest| (Years) | ygreq S
N | ® ®
(a)
Amar / 3IW 3% 1,800
Brijesh / fsem1 | 3% 3,000
Chirag / = 4 2,900
Divya / fgan 2 4,500
Ekta / Uehdl 4% 2,000
Fenil / %@ 2 6,000

31.

Choose the correct answer from the 32.

33.

34.

L35,

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ffe 3R 3R SR ITH SIS & 20 3
o Jrqard ° 8, Al FeRm gr few ol g
T J9F &9 @ § @9 fohaq ot |
LU
(A) 335 gB) 20 (C)22.22 (D) 29.40
If the difference between the interest
received by Ekta and Brijesh is ¥ 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.
f¢ TohdT 3T ToroieT g0 STl ST <6 &t ol
3R 3 420 7 3 U 7 forrw g fam B
TS ST 8 ST Sty o for st S foereT
fShaT &, < Tehall oh! I TSI 1A Shifory |
(A) ¥2,298 (B) 2,785
(C) ¥3,050 (D) ¥ 2,960
If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comgounded half yearly.

Ife SR STed T 3Hek gy e <

(A) T 2,233.56 (B) ¥2,549.45

(C) %2,322.62 (D) ¥2,122.46

If the interest received by Fenil is 20% of

the sum invested by him, then find how

much more money as interest he would

have earned if he had invested the money

in compound interest for the same years.

ﬁ;gma’mulgoﬂg 3G g Sl
1 20% &, dl AT hIT ;

3G HHH I81 % foTg SIEERECN

ferar gran 41 39 fopa S1Tee =Tt firetan |

(A) T80 (B)60 (C)X65 (D)X 75

If the interest received by Fenil is I 240

more than interest received by Divya and the

rate of interest received by Fenil is 2% more

than the rate of interest received by Amar,

then find the interest calcfl\llated by Divya.

Ife B g ured =TT fee g T e o
% 240 3ATeRR g TR WA g 9T =T <hl
T IR G IT ST <hl & H 2% A 8,
ar feea gro o fomen TR s 3T RIS |
(A) 1% (B)2% (C)3% (D)4%

23 (Population Stu.)




36.

37.

38.

39.

Which one of the following statement(s)

is/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

III. It cannot be used for cryptocurrency
wallet addresses.

(A) Both I and II EBg Both II and III

C) Only II D) Only III
%@%\fm HH %H a1/
AR T B /8 7

. 35! aledd citd 96T (Quick Read) % |
. IETHg-ffa IR s |

1L 35T 39T foheieniEt afcte Tga o

fore 72 foram s EeRaT 2 | .

(A) IARISA  (B) I 3R I gHI
(C) aet 11 (D) hare 11
Which video compression standard is
commonly used in videg conferencing ?
B N R S
YT TUSE T ITANT FohaT AT B 2

EA) H.264 EB) MPEG-2

C) MPEG-4 D) VP9

is a digital initiative of government

of India in higher education that aims to
promote hands-on learning of Robotics
and embedded systems in colleges.

(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

3= 31T o YR TRehr <hl Tk

TEA & TRl 36 hictsll H Usiiiead 3N |

e e o S S R |
(A) 3-37 (B) gret oioHt
(C) 3-9isft yrasme (D) -3

What 1is the National Institutional

Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education |

Institutions.

(B) A methodology for ranking higher

education institutions in India.

(C) A platform/framework i
students give feedback about ;
colleges and universities.

(D) All ofthese

(NIRF) S8 2

(A)ia%rmﬁ@aﬁaﬁw%mé

FHIER T gehl Hehr |

(B) i # v, e s G

foTe wes shrRigmTe? |

(C) Ush T/TrET &l S hictsll 3ﬁx
Tervaforemer

Toh o1 o gfafsran ea & |
(D) ¥ Tsft
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%HYT QR HIE H |

where |

40.

41.

42.

' 43,

What does it require to set-up an Intranet

for an organization ?

A) Computing devices

B) Communication  links and
Interconnecting devices

(C) Protocols for enabling
communication among devices

%Allofthese .
TS o U $gHe TATMUG i o
fore = SrragEs & 2

(A) Topfenfearem
(B) HaR foTeh 3TN setah-faen fearsy

(C) 39U & o9 TIR ! &H HH &
foTT Tietehiew
(D) ¥ Teft

Under which protocol the Clean Development
Mechanism (CDM) is implemented ?

A ﬁyoto protocol

B) Montero protocol

C) Paris agreement

D) Cartagena protocol

EZISIGIE dgd W= faem @

LT oot
(A) T (B) Hict §
(C) Ufm gueiiar (D) ShIEoHT Tieehic]
Certified emission reduction credit represents
(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon
dioxide emitted to the atmosphere.

(D)_None of these =~ _

IS hIldl shige  (certified

emission reduction credit)

(A) TIHEHA T IR Tohl STEHTEE
% Teh Higeh < H 1 |

(B) ITYHSH W IHNIA ATEEIeH SATTSS
% Teh Higeh < H A |

(C) IIYHSH U I hTeH STEHTFTES
o Tsh Hideh o1 H i |

(D) $TH T IS &

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee < Rice < Wheat

D) Rice < Coffee < Wheat
H FTH

Sl Ug (water
footprint) o ToeTT ST 59 § SATRIT i |
(A) T < STee] < il
(B) eI < g < hih]

(C) il < =ad < Tg
(D) =Tae <hihl < g



44.

45.

46.

47.

How many kilograms of CO,
equivalent to 1 kg of CH, in terms of |
global warming potential ?
AT AT &7 oh HeH o fohe feopctiomm

CO,, 1 e CH,, % ST & ?
gA) 10
B) 25
Cg 50 . )
(D) None of these/S:I'ﬁ @Tﬁ's::lff

The United Nations Conference on ;|

Environment and Development

UNCED), also known as the ‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

177, socio-demographic

175, socio-cultural

173, bio (c\onservatiqn

(qEFese), o ‘qeeh foraw wever & | 49-
w9 § ot SIHT I g, RURC
gfaffemT s q=iewer | A
TigfafRrn o gwe % 9§ == B %

fote wes Ty @ |

(A) 179, BT - 3Th

(B) 177, AT - SIHETEThI
(C) 175, IR0 —H%eplden
(D) 173, ie TReqor

In most of the States of India, the Vice- |
Chancellor
University is appointed by .
A; Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State
HRd bR TSI

fereafcrener™ = erdfd 6t
FUHRACE |

(A) T & gEIwAt

(B) T<T & T8 Tt

(C) TST o G Tt
(Dg T o freqn wft
Which is/are the online
?latformé?[}l in India ?

. DIKSHA II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA !
EA; Only I, 11 EBg Only L IL III |

C) OnlyIi D) OnlyL ILIV. |
YA H TS e o< b &1/6 /8 2

U] Hienll

learning :

I g . Y

Il TE IV. 9T

(A) Haet I, 11 (B) e I, 11, 111
(C) aet 11 (D) sad L, 11, IV

is 48.

of a State Government ; 50.

Which of the following institutions/
organisations play important role in
designing the curriculum for all the
levels of school education and higher

education in all the disciplines of
knowledge ?

I.  NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L, II (B) Only L II, 111
(C) LILULIV (D) OnlyL IL IV
I & At frwi # wpeft e it 3=
Tarem & @ft i & T UTgashe dAR
4 fafafea & @ ®F @ g /amed
Tequt yftrent fum € 2

I TERIRE 1L TR

I, it V. TATSHEE
(A) Had 1, 11 (B) e I, 11, 111
(C) LILULIV (D) &aaA L 1L, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafed & § & & TRE WRA™

o o (o o N
fovafaeme ada g0g <% Urfehed™ d

ancien‘g Indian
in Pakistan of

fea an?
(A) ATACT (B) qaf¥ren
(C) deal (D) fesrafaren

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular %anguages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl, II, III

(C) Only I, 11T (D) Only I1, IIL, IV

e 2020 7 fopm WS fe B 7
I oft sSfifafer ofit afssa areashn
TR TSI | I[E T |

II. ST S YoMt sl Gastired o |

L. 8t Hicwi & §g-fawaes
Torvaferamerat @ ufafda s |

IV. YR STedmaedr q@vre 3R e
o ToTT U 1T UTSAshE IR AT |

(A) LILULIV  (B) %aa L I, 111

(C) a1, 11 (D) =had 1L, 111, IV

23 (Population Stu.)




S1.

52.

53.

Part-11 / 9RI-11
Population Studies / SEGAT 3T

What is the use of location code in the

Indian census data ?

(A) To eliminate the difference
between male and female while
doing census work.

(B) To improve the work related to
education in census.

(C) To solve the problem of
administrative boundaries
changing daily.

(D) Correction of errors by conducting
survey after census.

YA SFIUET o 3AThel H TIH

(TSRS ) SIS T FT ITAMT & 7

(A) SHIUHT S T T g8 3R Afgel
% ofir 3R o GeAH Hi o forT |

(B) ST | ftem @ wefuq s A
qor ¥ for |

(C) wfdfed seerdt wsmates st 6
HHET <l GHTHTH bl |

(D) SIIUHT & &1 TAequT hich Jredl
BT YN |

Who developed the

population potential?

(A) Demko

(B) Clark

(C) Vincent & Sriyank

(D) Stivart & Varntaj

SHEEIT gual i STFUNO i fReH

ferenfira fepam 2

(A) SHhI

(B) FATh

(C) fagiz 3k sfarmes
(D) feearé 3R auia

What is the formula for calculating
economic density according to George ?

Sifsl o STHER AT T 6l TUET 1
YARE ?

(A) ED=NK/ST (B) ED=ST/NK
(C) ED=NK/SK (D) ED = NK/SP

concept of

23 (Population Stu.)
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Given below are the two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the code given
below.

Assertion (A): The distribution of
population is found to be sparse in
desert and arid region.

Reason (R): The soil of the desert and
dry regions is rich in minerals.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

= g %A feu U E, ue @ SAfieReH

(A) 3 GBI HRUT (R) &9 H Iooid

foperm e B | i QT TTT e | 37T ST

M |

ARTRUT (A) : FEEIAT qUT I Tt

T TG 1 ferawor ferter e ST B |

RO (R) : HEEIAT qm o6 Tt

firt @il @ wgg R

(A) (A) 3 (R) THT 7 & 3 (R) (A)
H T e # |

(B) (A) 3R (R) 31 Wel &, ™ifeh (R)
(A) 1 Tt =T TE R |

(C) (A) T& 2, AAfh (R) Ted 2 |

(D) (A)TTeTd 8, ®fehd (R) W&l 2 |

Which of the following Indian tribes call

Holi Devi by the name of Jogan Mata ?

(A) Gonds (B) Bhils

(C) Maldhan (D) Toda
Frferftga o & oo R ST gieft
<t ol ST TTT o AT | YRl B ?

(A) TiE (B) i

(C) T (D) =T



56.

57.

58.

Match the List - I with List - II and
select the correct answer from the code
given below :

List- 1 List — 11
(Tribes) (Area)
(a) Jaintiya (i)  West Bengal
(b) Seema (i) Meghalaya
(c) Toto (i11)) Tamilnadu
(d) Koma (iv) Nagaland
A1 91 gH-11 & gl Hifv i
1 few e e & W 3T g |
A - 1 T - 11
(SFATier) (&)
(@ <Efen () ufvew s
(b) (i) e
(c) < (i) afreTg
(d) = (iv) ArTeie

(A) (a)-(i1) (b)-(iv) (c)-(1) (d)-(iii)
(B) (a)-(i1) (b)-(iv) (c)-(iii) (d)-(1)
(C) (a)-(v) (b)-(i1) (c)-(ii1) (d)-(1)
(D) (@)-(1) (b)-(i)) (c)-(iv) (d)-(iii)
Which of the following species is not a
subspecies of the Caucasoid species?

(A) Ainu (B) Seltik
(C) Nardik (D) Tasmniyan
Fr=fafaa & @ =9 = sota seeEs
TSI ! SU-YST AR & 7

(A) & (B) dfeesh

(C) Rfss (D) aTT==IT

Who first introduced the concept of
optimum population level ?

(A) Kenin

(B) Malthus

(C) Kanfushius

(D) Addwerd Akerman

IIHATH TSI TR hI YR

ey fren wfquifed i ?
(A) i (B) UTeud
(C) FIpREE (D) TeaE THEN

11

59.

60.

61.

What was the population growth of
Christianity in India in the decade
1991 to 2001 ?

1991 & 2001 % <31 T WA H SHTS 94
1 SEE g forat off ?

(A) 21.1% (B) 22.1%

(C) 23.2% (D) 24.2%

Which religions are included under
ethnic religion ?

a. Christianity

b. Hindu religion

c. Chinese religion

d. Buddhism

Select the correct answer from the
codes given below.

S T g AT e o 3T AT @
a. 3915 gd b. %ajllff
c. = ud d. EﬁTg'?ﬁfl
= feu T e T Tt 3T BT T B
(A) a &/3Tb (B) b &/3 R ¢
(C) ¢ &/ d (D) a &3 d

What do you understand by vital

events ?

(A) These events mark the death rate
of population.

(B) These events mark the
expectancy of a population.

(C) These events mark the birth rate
of population.

(D) These events mark the beginning
and end of a person’s life.

SHEATER ST § 37T < EHed 8 7

(A) ¥ A FEET h G @ HI
fafea st 2 |

(B) ¥ TAE TTEEAT <l S Jeamem
! fafed = € |

(C) ¥ T ST T SFH T HI
fafea st 2 |

(D) ¥ AW UH ARF o Siad i
O F 37 i Tafed e 2 |

23 (Population Stu.)
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62.

63.

Given below are the two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the code given
below.

Assertion (A): The civil registration
system was introduced in India by the
British government 100 years ago.

Reason (R): Due to the lack of
medical facilities in India at this time,
the death rate was very high.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

= g1 %A fou U E, e i AR

(A) 3 G I HRUT (R) o &9 H IociE

fopern e B | 9 QT TE e § 37T ST

M |

AR (A) : TR ISHeRor Joumeft

WRA H 100 9 98 fsrfest aeer g &

g off |

HRUT (R) : 39 999 9Rd A faferean

gfawnst 61w % HRO g R Fgd

3Tereh ot |

(A) (A) 3T (R) HT @& & 31 (R) (A)
& TE AR |

(B) (A) 3 (R) GHI W&l &, ™fehT (R)
(A) < T ST T © |

(C) (A) W& 2, Afehd (R) T 2 |

(D) (A)TTerd &, <feh (R) Tl 2 |

Which year is known as the year of
great divide for India’s population?

forg ¥ A1 a1 SERET & fo 7eE

foraTsH & o8 % ®9 H TEI AR ?
(A) 1911 (B) 1921
(C) 1931 (D) 1941

23 (Population Stu.)
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64.

6S.

The third stage of the demographic
transition theory is included in the
characteristic

a. Falling Birth rates.

b. Increasing Birth rates.

c. Rapidly increasing mortality.

d. Rapidly decreasing mortality.
Select the correct answer from the
codes given below.

FETTEThIT HehHul g o de =X
ﬁﬁﬁwﬁﬂﬁﬁﬂ%:

a. TRASH

b. sl ST gL

c. ol & gl Heg &

d. TS uefigy X

Y o 70 ope & T S BT A B
(A) a &/3Tb (B) b &/3 ¢
(C) b &/ d (D) a &3 d

Given below are the two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the code given below.
Assertion (A): The general sex ratio in
India is less than 1:1.

Reason (R): The shortfall in sex ratio

in India is more in North India than in

South India.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

e g1 e feu U B, Uk 1 31firEReH (A)

3 GER 1 ST (R) ¥4 1 Ieoi@ T

TR g | il QT T e | ST SR AT |

AR (A) : WA § gE fam

IO 1 AHAR |

FHROT (R) : AT H fofim s1gard 4 =6+ gfeqon

I ol ot o ITh Wi ¥ 316 B |

(A) (A) 3T (R) T R 3 (R) (A)
<! gl T

(B) (A) 31 (R) aﬁ a &, AR (R)
(A) & & AT TR B |

(C) (A) W& 2, ek (R) T 2 |

(D) (A)TTeTd &, <ifeh (R) Tl 2 |



66.

67.

In India, there has been an increase in the

sex ratio in the census decade from 2001

to 2011, in which Kerala has the highest

sex ratio in India. Which is the reason ?

a. High social status of women in the
society.

b. Maximum out-migration of male
population.

¢. Maximum in-migration of male
population.

d. Female feticide or abortion.

Select the correct answer from the

codes given below.

qRd H 2001 | 2011 = SOMAT <90

forTroTa # 9fg 88 7, T vrd % e

1 feRTIaTd Heet 371 & | Foreeht shrem 8

a. GO T OigeTiat <l 3= gmTteres fRafd

b. TEY ITETG I IUhaH I3 -
HISURH (STET Yoo )

c. BN WG HI IAUHAH F-
HISUTM (7S JaTE)

d. =T YT BT AT THITA |

el feu 7T e & FET 3T T = Rl

Code/e2e :

(A) a,b&/3Md (B) a&/3Mb

(C) a &/ ¢ (D) a &3 d

How is the crude activity rate measured

in relation to the labour force?
( A) Total number of persons in the labour force

: *100
The total male population
(B) Total number of male workers in the age group 15-59 100
Total number of males in the age group
C Total number of persons in the Non-working force ,
©) : A 100
The total working population
(D) *100

Total number of females in the labour force
The total female population

oH Wke % T99 H Fe U ©

(3rmiferd fopamefictar o) Sa AT ST 2 2

o9 A T ARKAT bl el T
et Yo¥ ST

15-59 31 5 ¥ geS Afehi hl Pt T
3T T H eI bl Hof T

MR- 51 § ARl hl Fot T
A HIHBIS TS

oW oA H AEAT3T hl ol T
Pl HigAT SHEET

(A) *100

100

(B)

*100

(©

*100

(D)

13

68.

69.

What is the importance of crude birth

rate method used for measurement of

birth rate globally ?

a. The computation of the crude
birth rate is Ver¥ easy and quick.

b. It indicates the level of the fertility
of a society.

c. Crude birth rate is only the
measure of crude fertility.

d. Crude (fertilit 1:])r0V1des the
general view of fertility.

Select the correct answer from the
codes given below.

foga T W I @ & 9H & U

mﬁgﬁ(@)ﬁwawﬁwwm ?

a. ¥ ST S el U1 SIgd 3TEH
IR |

b. IE THIS <hl IoT oh T ! A FAT 2 |
c. TN 9= ¢t haet TRMTerd Iaa
HIATE |

i , 3T T T
ZfEeRIvT Y A 7 | .
= QU TT e @ &l 3T =9 A
(A) a,b &/3Md (B) a, b &/ ¢
(C) b, c &3 d (D) a,b, c &3 d
Select the correct statement regarding
total fertility rate and select the correct
answer from the code given below.
Statement — I : The total fertility rate
is the sum of age specific fertility rates

d.

of women in each five year age group
Statement — II : The total fertility rate
is a hypothetical rate indicating the
ever be born to a group of women.
Select the correct answer from the
A) Both Statement I and II are correct.
]é Statement [ is true.
Statement 1.
(D) Statement [I is_true.
3R el feu MU e | HE ST BT TR :
HUAT - I :gwa 15 | 59 99 %
T U 99 o 371 Tg § Afgenati it
YA 11 : %WT H\SI*H?(@ <hlcdldeh gt
B S 3 §=
i feu T e T TE IAHT T B
(A) o [ 3R I TH T2 7 |
(C) TN HYT [T 2 IRASHUAI |
(D) HUTN TR |

from 15 to 59.
total number of children that would
codes given below.

Neither Statement I is correct nor
e oI G h HY T Tl U ol T i
g R g AR |

| T T R
eft oft mifgeran & g d der e |
(B) FYT [ HE 2 |
23 (Population Stu.)



70.

71.

rowth of the
as happened

In the present time, the
population of the world
very fast.

The rate of natural growth of
population in a place is determined by

(A) Difference in death rate and migration.
(B) Difference in birth rate and migration.

(C) Difference in birth rate, death rate
and migration.

(D) Difference between birth rate and
death rate. ) ]
Faa F9 § favd 6 SHEen 4 ig
FEd ol A g8 ¢ | fopeft worm w SEen

=1 STehfcieh gfg =t gt i giel § -
(A) Ycg & FAR JarE | SR Y

(B) 1 X 3R a8 § 37l °

(C) 1 ¥, e X 3R YaTeH | 37 |
(D) S & 3R Jg o & TR H

Regarding the size of cities, the
statement is true in the context of the
rank size rule.

a. The population of the second
category city will be half of the
population of the first category city.

b. The rank of the city can be
assessed on the basis of the
population found in the city.

c. In the context of the rank size
rule, for the first time, Mark
Jefferson had expressed his
thoughts.

d. In determining the rank size rule,
the cities are placed in ascending
order according to their size.

Select the correct answer from the

codes given below.

(A) a&d (B) a&b

(O b&d D) b&e

& % IR o F&Y ¥, I

fro s e dweaa g |

a gufl % WG T A UgAl
o ITEL <hl TTETE] © 31l B |

[ERISIRCT e
c. i AR oM & Ty o Hauuy
TTeh STHEA o 310 TR ek fohu 9 |
d. ife R T fulfe =@
TR Pl Ik HHR & FIER
T ITH BT T HL
(A)a:&ﬁt? (B) a 3R b
(C) b3d (D) b3 ¢

23 (Population Stu.)
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Match the List - I with List - II and
select the correct answer from the
codes given below :

List—1 List —1I
(Type of (Calculation)
population
density)
(a) Mathematical (i) Total
Density population /
Total
resources.
(b) Economic (i) Total population
Density / Area of food
Crops.

(c) Agricultural (iii) Total

Density population /
Total Area.
(d) Nutritional  (iv) Total population
Density involved n
agricultural
activity / Total
agriculture land.
-1 ! -1l § GAfea hHie 3R
=t feu 7T e @ wE W AT :
et -1 et -1
(STEE (FTUTT)
Hcd hl
ThR)
() Wi () $a SHEEAT / $HA
BRSS! EEIRE]
(b) i (i) $& SHEE/EE
T ®EA! T §ARA
(c) HNaaca (i) Hot FHa&AT / FoA
SERT]
(d) o (iv) Y R 4 Wi
e FA  SHEEA/HA
P fe

(A) (a)-(iii) (b)-(1) (c)-(iD) (d)-(iv)
(B) (a)-(iii) (b)-(1) (c)-(iv) (d)-(ii)
(©) (@)-(i1) (b)-(iv) (c)-(iii) (d)-(1)
(D) (@)-(i1) (b)-(iv) (¢)-(1) (d)-(iii)
o



73.

Given below are the two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below.

Assertion (A) : Lorentz curve is used
to find out inequality distribution in
wealth, income, urban population or
general population.

Reason (R) : The diagonal is drawn
making an angle of 65 degrees in the
Lorentz curve. Deviation of the curve
from the diagonal indicates inequality
in distribution.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) 1s false.

(D) (A) is false but (R) is true.

e Qe feu e 8, ek Wl 31fieReE (A)
3R GHL 1 ST (R) ¥4 1 Ieoi@ fopall
TR 7 | il e TTT e | ST ST FHT :
AR (A) : AR 5k T IUAT &,
AT, &0 SHEEAT AT A SHEE §
FEAEAr foaor &1 udr e % o
fer ST ® |

THROT (R) : AR sk 1 ferehvol bl 65 feuft

%1 IV AT T G T 7 | foeket @

Ik k1 fogoa faawor & rH|Edar &

Tt 2 |

(A) (A) 3 (R) GH1 & & 31T (R) (A)
1 g8 =T 2|

(B) (A) 3R (R) QI & &, AR (R)
(A) < T =T T 2|

(C) (A)TT B, Afha (R) Tord 2 |

(D) (A) TeTd 8, wifehd (R) TH 2 |
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74.

Read the following statement and
select the correct answer from the
codes given below :

a. Sex composition in the US is
measured by the number of males
per 100 females.

b. The sex ratio of the world's
population is 100. 4 which is done
by finding the number of females
per 100 males.

c. If the number of children in the
population is more then the
dependency ratio will be more.

d. If the birth rate at a place is low
and people have a long life, then
the population is said to be old.

Select the correct answer from the
codes given below.

(A) a, b, and c are correct
(B) a, b, and d are correct
(C) a,c,and d are correct
(D) b, ¢, and d are correct

freferfaa sem = ufen 3t fiw feg o

%e § T W AT :

a. SN ¥ foim ww=ar 1 gfd 100
Higenatt W ges & @@ ¥
AT R |

b. fowa it e 1 fermaTa 100.4
2, W gfd 100 gesi W e
AT T hleh fohaT ST § |

c. Jfe SHEEIT | g1 I G Al
Bt Tl sgama 3tfers & |

d. Ife frdt TIm W1 A 8 3R
T ohT SieH oIeT 8, df SIEEAT bl
T (3TeS) HEI @7 |

Fra fow e e & T ST BT T R |

(A) a,b, 3N cTHR |

(B) a,b, IINJ T2 |

(C) a,c, ANAEE R |

(D) b, c, INJTER |

23 (Population Stu.)



75.

76.

Given below are the two statements, one
labelled as Assertion %Ag and the other
labelled as Reason (R). Select your
answer from the codes given below.
Assertion (A) : Delhi has the highest
opulation density among the Union
}%erritories. This is more than the
density of Singapore, the country with
the highest density in the world.
Reason (R) :
Urbanization
territories.
(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is

not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

3 e fou T E, U ) e (A)
3R GHL 1 ST (R) ¥4 1 Ieoi@_fopal
T E | e QU Y e & 311 ST I :
stfihem (A): g i we § feeeh
H TS T ded % § | T8
?’éﬂ T gy SIG1 I Tl ¢ famgR

R R IR I ST

FHROT (R) : °hg YA G T IR

Hfopm aga w1

(A) (A) %R) THl 9 § 3R (R)
(A) I EG @R |

(B) (A) 3R (R) QHI & &, Wfehd (R)
(A) 3! &) ST T8 § |

(C) (A) ¥ &, Wfhd (R) oA 3 |

(D) (A)TTeId &, A (R) T ® |

How is the dependency ratio measured
in relation to the population?

Dependent population
(A) The total male working population * 100

(B) Total number of male workers in the age group 15-59
Total working population

is very

*100

C Dependent population
(©) Total working population
(D) None of these
G % T H 0T ST a1 hd
HIAT SR ?
ST SHE@ .

(A) 1 JoY HIHHTS TS 100

) 1559 31 T T YN AUkl ST el T
(B) ENEILEIEIRCICIH]

C S ST *1000
© A hIHBIST TS

(D) &H @ rg TE

*1000

23 (Population Stu.)

The %owth rate of
gh in Union

*100
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77.

Read the following statement and

select the correct answer from the code

given below :

a. Fertility refers to the actual
number of live births by a woman
or their group in a given period of

time.

b. The population living per
kilometre of area is called man
land ratio.

c. The percentage increase in

population in the middle of ten
years is called decadal population
growth rate.

d. The ratio between the total
number of registered children
born in a particular year and the
total population of that mid-year
is called crude birth rate.

Select the correct answer from the

codes given below.

(A) aand c are correct.

(B) band d are correct.

(C) aand d are correct.

(D) ¢ and d are correct.

Frafaftaa wem =1 ufeu 3t = feg g

@@H’@Eﬂ'{ﬂﬁ'&

a. WW@ﬁ%ﬁmﬁﬁ@
HIEAT AT 37eh TG GRI SHTd =1 <t
TTEifereh AT Sl Tefid il 2 |

b. i feretiiiex & § T8 arelt Seren
! THE i ST hEd ¢ |

c. TH Nl o ued N SHEE H i 9fg
! GIRHI SHEE G & Fad ¢ |

d. fereht fomre o o 97 3T USiishd o=l
Sl et T 37 39 AL 9 < HA
SHERIT % S % AU oI
AT T T HET AT |

i fou e e & T ST BT T R

(A) a3 cTEE |

(B) b3 Aol & |

(C) a AR AT 2 |

(D) c3MATEZ |

u]



78.

79.

Given below are the two statements, one
labelled as Assertion %Ag and the other
labelled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : India is counted as a
country with emographlc dividend.
Reason (R) : India has the largest
working po ulation in which the
percentage of population in the age group
of 15-64 years is high. This age group is
directly related to the active population.
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

1 Y TEU T &, Teh ol MM (A)
Sl HRIT (R)é:wfr %m
TS |:ﬁ%ﬁ{qm@ﬁm3at
) : W <l UM
mmﬁ%m%“&qﬁaﬁaﬁ%l

HROT (R) : IRA § T S HHehISA

AR B o 15-64 @Y % Y

ST T TaeTd 314 3 RrsaTrgaﬁ

Y gisra SEE 9 geEfa B |

(A) (A) 3 (R) 1 T & 30 (R) (A)
H IR AT |

(B) (A) ﬁt(R)aﬁ:ﬁw% AT (R)
(A) %l HE 2T T 2 |

(C) (A) T B, Al (R) *|v1<1% |

(D) (A)W%,@W(R)W 2

Match the List - I with List - II and

select the correct answer from the
codes given below :

List—1 List — 11
(State) (Sex Ratio)
(a) Tamilnadu (i) 989
(b) Meghalaya (i) 895
(¢)  Sikkim (i11) 996
(d) Pun] ab (1V
iSRS SOV
Bl @ I
Tt -1 gt - 11
(@) (few rae)
(a) deEg (1) 989
(b) HUH™ (i) 895
(c) T (i) 996
(d w= (iv) 890

(A) (a)-(iii) (b)-(1) (c)-(i1) (d)-(iv)
(B) (a)-(iii) (b)-(i) ~(c)-(iv) (d)-(ii)
(C) (a)-(i)) (b)-(iv) (c)-(iii) (d)-(i)
(D) (@)-(i1) (b)-(iv) (c)-(1) (d)-(iii)
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80.

81.

Given below are the two statements, one
labelled as Assertion (Ag and the other
labelled as Reason (R). Select your
answer from the codes given below :
Assertion (A): The concentration of
population is found more in Payine
area of Great Britain, Chhota Nagpur
area of India, Ruhr area of Germany.
Reason (R): In the areas of the world
where minerals are found, dense
population is found in those areas.
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
% feU TTT &, T ol AR (A)
ﬁ@ﬁw (R) % &4 1 Seor@ Tehal
T | A U T e & 3o SR g
AR (A) : SHEETT B b0l IS
573 % T 85, WRA o BieT TR &,
ST 3 TR 8 SHEe T ST E |
HROT (R) : fova & 5 & # @fis
TR E, 3 A T O S 0 S R |
(A) (A) 3R (R) S S & 3T (R) (A)
<l Ha| AT

(B) (A) 3R (R) a:ﬁw% AAfRT (R)
(A) 1 T& GZIT@JT T2

(C) (A) T B, &fh (R) naﬁ% |

(D) (A) TTeid 3 At R) & 2 |

Match the List - I with List - II and select the
correct answer from the code given below :

List—1 List —II
(Religious (Population
Community)  Share (%), 2011)
(a) Buddhist 1 2.3
(b) Jain (i) 1.7
(c) Christian (i11) 0.4
Sikh @iv) 0.7
gl i -1 ¥ gufea Hife 3k
ﬁn ‘TQ %2 H W IH ?ﬁm
Tt - 11
(aﬁssﬂa'm) (e 31U (%), 2011)
(a) S1G i) 2.3
(b) I () 1.7
(c) 34TE (iii) o 4
d) fr= (iv)

(A) (a)-(iii) (b)-(i) (C) (ii) (d)-(iv)
(B) (a)-(iii) (b)-(i) (c)-(iv) (d)-(ii)
(C) (a)-(iv) (b)-(iii) (c)-(i) (d)-(ii)
(D) (@)-(iv) (b)-(iii) (c)-(iD) (d)-(i)
23 (Population Stu.)



82.

Select the correct statement regarding
total fertility rate and select the correct
answer from the codes given below :

Statement — I : Human Development
Index is an index of the United
Nations Development Program
prepared on the basis of the level
of health, education and income
etc.

Statement — II : The highest value of
Human Development Index can
be up to 2.0.

Select the correct answer from the
codes given below.

(A) Both Statement I and II are correct.
(B) Statement I is true.

(C) Neither Statement I is correct nor
Statement II.

(D) Statement II is true.

Pl T ¢ S FEY T HEl HAT Bl T
W 3R = U 7T e & T I A1 TH

i

FHYA — I : TG Tk Fahieh G Y
forshTer TIsRT T Th FAHTH & Al
ey, f3rem 3 31 3nfe & wW
o ST R AR fopal ST 2 |

FHUA — 11 : 9 o g
I HH 2.0 T B Hhel1 2 |

= feu T e T T I HT T B
(A) 9 I 3RS T 2 |

(B) ST [HEI € |

(C) Al o 1 HEl 8 A& He 11

(D) F T2 |

23 (Population Stu.)
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83.

Match the List - I with List - II and
select the correct answer from the codes
given below :

List—1I List — 11
(Word) (Meaning)

a. Sterility i. The live birth of
women are
classified
according to their
order.

b. Family i1. Women are classified

Size in according to the
demography number of children

born alive to them.

iii. Total number of
children a woman
or a couple has
borne at a point of
time.

c. Birth order

d. Parity iv. Woman is one who
has not had a single
child.

-1 ! -1l § GAfea hHie 3R
qﬁ%%@@@@aﬁwiﬁn :
A -1 g - 10
(¥%) E)
a. ST i. afgematt % Sfaa
S I 3 S b
FTFER afipa fepam

TR |
b. SHEfETH ii. A3t w1 b
Jufer &1 Sifed s "= 6

JTHR T& % IER
ffepd fepam T 2 |
C.IUHH  il. Tk Hige AT Th g
J U 99T | s hl
Pl HEAT UG 1 3 |
d. gar iv. Tt &t foreent wes ot
TR |
(A) a-iv, b-iii, c-i, d-ii

(B) a-iv, b-iii, c-ii, d-i
(C) adi, b-i, c-iv, d-iii
(D) a-ii, b-iii, c-iv, d-i



84.

Read the given statements regarding
crude birth rate and select the correct
answer from the codes given below :

a. The number of children born in a
certain territory in a certain year
in proportion to the population of
registered and unregistered live
children is called crude birth rate.

b. Crude birth rate does not include
both children and the elderly in
the measurement because this
segment of the population does
not participate in reproduction.

c. This type of birth rate gives a
general idea about productivity,
hence it is called crude birth rate.

d. In the measurement of crude birth
rate, sex differences, importance
of reproductive age, stable
proportion of reproductive age
group are not taken into
consideration.

Select the correct answer from the

codes given below.

(A) aand c are correct

(B) b andd are correct

(C) aand d are correct

(D) c and d are correct

SN S e o He9 | feu 7u el

%I 9¢ 3R = U 7T e T T I A

%I?F[‘clﬁ

a. Toliehd 3R JTSfigha SHiferd sl <hl
ECteic ey T w foifeer &
we ffvea & o Yqr gu = <l Een
1 ST T < HaT JAT g |

b. MG S < AW H = 3R
[ ST Sl SN T8l il @
ifep SHERET T I8 @8 Yo H
W T8l T 8 |
c. 38 YR hl I G IcATGHhl o o
H ush g e ot 7, safae g8
STINTrd ST e hET ST 2 |
d. smnfad o @@ & "oA H, fam
AWM, YA Y 1 Tgd, TS
Y TE < TR 37U &l & |
@S |
il QU TTT ke @ HEl T HT =T B
(A)aﬁ?cﬂ"&ﬁ%
(B) b3 d T g
(C) a3iRdud g
(D) c 3R dad &

19

8S.

Given below are the two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A) : The net production
rate thus measures the extent to which a
cohort of newly born girls will replace
their mothers under pre-determined
schedules of fertility and mortality.

Reason (R) Thus the gross
reproduction rate is an intermediate
step in computing the net reproduction
rate and the net production rate
indicates the number of daughters ever
born in a cohort of women.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

el ) e feU TR, T i AR (A)

3 GH 1 SR (R) 9 1 Jooi@ fohall

TR g | il ST T e | SO SR T :

ATURA (A) : TG ISATET G 39 TR
ATt B foh SoA 3TR g0 a0 8-
freif@ wRisn % dga TN
TSRl 1 Teh THg T WIars
! fohdl &G deh 5ot ol |

WHROT (R) : 39 YR Hhed T4 X IG
Y S I TOHT H Uh HEATd!
A 8 I Yg Icured g Hufl oft
Higenati & Tqg § a7 g8 Sfea
HEH1 S 2 |

(A) (A) 3 (R) THI T & 3T (R)
(A) S =TT R |

(B) (A) 3R (R) G & &, AR (R)
(A) =h! TEl SITEAT TE € |

(C) (A) I8, oifehd (R) TTerd § |

(D) (A) TeTd &, SR (R) T 2 |

23 (Population Stu.)



86.

87.

Match the List — I with List — II and
select the correct answer from the
codes given below :

List—1 List — 11
(Word) (Meaning)
a.Primary sex 1. Sex ratio at the time
ratio of census.

b.Secondary  ii. Sex ratio at delivery
sex ratio time.

c. Tertiary sex 1iii. Sex ratio at
ratio conception

d.Child sex  iv. Number of children
ratio aged 0-4 years /

Number of women

aged 15-49 years

] HIfe

TEi-11
(319)

nf%'waﬂﬁ RAKICI
c-ii,  d-iii

c-ii1, d-ii

c-iv, d-i

d-iv

A
B
C
D

a-i,  b-iv,
a-i, b-1V
a- 111 b-ii, 1
a-iii, b-ii, c-i,

Match the List - [ with List - II and select the
iven below :

correct answer from the codes

List -1 ist — 11

(Tribes) ) (Habitat)

a) Askimo 1)  Tipt

b) Bantu 11)  Yurt

c Red Indians 111) I loo
Khlrgee] (v

%ﬂﬁq St S il W i
Ry 3T-|T

ﬁ oo I
(311?=|TH)
(a) q_r@—m (i) fafa
o 5 &

C 111

d) Taufs

e g g:g:z) ah
C) (a)-(i1) -(1)  (c)-(iv -(111
-(1) -(i1) (c)- 111% {di-{lvg

23 (Population Stu.)

'ﬁaﬁag%w 15-49
9 A o1
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88.

89.

Read the given statements regarding

world population distribution and

select the correct answer from the
codes given below :

a. The country with the third largest
population in the world is
currently America.

b. Nigeria's population is the fastest
growing population in the world.

c. 20.40% of the world's population
is found in China.

d. More than 40% of India's
population is found in the Deccan
Plateau.

Select the incorrect statement from the
given statement.

(A) aand c are incorrect

(B) b and d are incorrect

(C) aand d are incorrect

%)Qac and d are incorrect

e faar & ey # feuw 7u

FHYAT I 9¢ AR = T T Fe & T

I T I L ;

a. el gl < STaTd e

A H AT B | .

b. i S HAETE g W weE

Al § ded! 3TEE B |

c. ﬁwgﬁzom%wzﬁqﬁtﬂé

d. WRd H 40% ¥ AfUH IETE
SFh TSR Y 1S ST 7 |

FR FEU T SR § Y i W 1 e 7
(A) a N ¢ T 7 |

(B) b3 dTed g |

(C) a3RdTA % |

(D) ¢ 3N dTATE |

State the correct ascending order of
countries with top population growth

rate globally.

(A) Oman — Qatar — Lebanon - Kuwait
(B) Oman — Qatar — Kuwait - Lebanon
(C) Oman — Lebanon- Kuwait — Qatar
D) Oman — Lebanon- — Qatar - Kuwait

T W GG SHEE Jig &

alTed 11 <1 Wl STIE] hH STaTsy I

(A) FHM - Hal - AT - FId

(B) - HAR - FHAd — AGH

(C) 3THH - TS - Hoid - HaR

(D) 3THH - T - Hal - Hod




90.

Given below are the two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A): The first age group
(15-39) is also called the working age
group, which
vigorous, reproductive and productive.

is the most active,

Reason (R): The young age group is
highly transmissible. The upbringing
of both the other age groups (child and
old age) is done on this class.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

il g1 e U T €, T i MR (A)

3R G %1 0T (R) o &0 H oo feparl

T3 | i U T e & 19T ST T

ATTRAT (A) : T Y T8 (15-39)

F1 e 3T T o e S 2, S

qed Gihd, e, IS 3R

IeATEh Bl € |

RO (R) : JAT 3 1 1T ThToh

2 | 3= A (S T Fg) S

AT -1 5 BT § |

(A) (A) 3T (R) G & & 3T (R) (A)
HEf =A@ |

(B) (A) 3R (R) &l &1 &, & (R)
(A) ! T =T T8 7 |

(C) (A)HH R, wfehd (R) Ted R |

(D) (A) 7TeTd &, AfhT (R) T 2 |
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91.

92.

Read the given statements and select the correct

answer from the codes given below :

a. The Crude death rate thus expresses the

frequency of details in "an entire

}%opulatlon as a single number. )

b. The crude death rate is the most widely
available index of the level of mortality.

c. The crude death rate measure is that it
hides the experience of population group
whose mortality varies a great deals.

d. The crude death rate is a ratio of the
total unregistered death of a specific
year to the total mid-year population,
multiply by 1000. _

Select the correct option from the given

options.

A) a, b and c are correct

B) b, c and d are correct

C) a, cand d are correct

a, b, c and d are correct

T HYAT I q¢ 3R A fou T % |

TET I HT T B : .

a. IRMMYA g 39 ThR TH &1 G 5
9 4 qff o7erdl | foawor i smafa @
I HLAT B |

b. W T & JF & o W ol qo8
9o €Y H 3TcTe ThTh ¢ | ‘

s o ey
& b 31FHS bl JUTCT g I
5 JAfereh e B © |

d. TN 9 @, T fafdm oy & $o

il T 1 ol HEA-TY ohl SHEE
¥ ST 2, ! 1000 § N H@TE |

o T ferhed B & T Terehed obl = B |

(A) a,b3MMcTE |

(B) b,c3NdTAE |

(C) a,c3NITET |

(D) a,b,cINITRE |

The correct formula for the measurement of

age specific death rate is the one used for the

calculation of death rate
Total Death of people

A . *1

(A) Total population ages 40-44 000

(B) Total number of male workers in the age group 15-59
Total population ages 40-44

*1000

Death of people ages 40-44

(C) Total population ages 40-44 * 1000
Death of Dependent population group
(D) Total rg;mber Og; d%}& 100;; \—:ﬁ
31Ty farfdre 9oy U b T T8
Y X <l TTUMT oh ToTT SRITT fefart STt &
o SH H .
(A) %m@n 3T 40-44 1000
15-59 3y =i & qgeu Afieni i o e
(B) o e T 3044 2 1000
40-44 9 <1 3T % AT ! g
(© ol wEE g 4044 1000
(D) T TEENTE DG

%o 4o 1 T@
23 (Population Stu.)



93.

94.

Select the correct statement regarding
total mortality and select the correct
answer from the codes given below :
Statement — I : The level of mortality is
very high in the first few hours, days and
weeks of life.

Statement — II : The reduction in mortality

was considerably greater in the younger
gge groups than in the older age groups.
elect the correct answer from the codes
given below.
A) Both Statement I and II are correct.
B) Statement I 1s true.
C) Neither Statement I is correct nor
Statement II.
(D) Statement II is true. ]
1 Hg G h Hed H Wl e 1 I i 3N
T e 7T e W W 3T T =TI B
-1 S % e F© Hel, fedl it v
i T & 1 T g % ?ﬁ@m% .
EW—]I ds 31Y Hﬁgl qdetd RELREIR
TR T g GUH HHl I AR |
=t few T e @ FE 3T A1 = B
(A) AR THI FE17 |
(B) YT ITEIZ |
(C) A HYT[TE B IMA R FUT 11
(D) HATITE 2§ |
Given below are the two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your answer
from the codes given below :
Assertion (A): The first cate%ory of infant
mortality consists of those infants who die
before t elsicom lete four weeks of life.
Reason (R): The rate based on the first
period is known as the post-neo-natal
mortality rate.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).
EC% EA; is true but (R) is false.
D) (A) is false but (R) is true.
A= Q1 YA fqu T 2, ue i FAfne (A)
3R g8t 1 RO (R) o &9 H Jeor@  fopart
T 8 | e U T e | ST ST g
HATHEHUA (A) : ﬁ;@ﬂ%ﬁﬁ%ﬁ Sui H
A & S e % IR q61E T 0 9
TS B
HROT (R) : TEel S o HTYR TG h! I
TS g & oh F H T I8 |
(A) %%% 3R (R%aﬁ T 2 3R (R) (A)
AT o |

(B) (A) 3R (R) QHI & 7, @lFT (R) (A)
&) gE AT T B |
(C) (A) T, Ak (R) Ted & |
(D) (A)7eTd &, (R) & 2 |

23 (Population Stu.)
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96.

Given below are the two statements, one
labelled as Assertion EA% and the other
labelled as Reason (R). Select your
answer from the codes given below. =
Assertion (A) : In urban areas of India,
the death rate is less than in rural areas.
Reason (R): The environment of rural
areas i1s much better than the
environment of urban areas, however,
health services in India are more in
urban areas than in rural areas.
(A) Both (A) and (R) are true and (R)
is the correct explanation of (1}1\). ]
(B) Both (A) and (R? are true but (R) is
not the correct explanation of (A).
C) (A) is true but (R) is false.
D) (A) is false but (R) is true.

= g1 e fou T €, s (A)
37 EL T BT %{)%ﬁwﬁaﬁﬂa IEZIRID)
&1 e fou T e @ e ST
HATHHA (A) : WA el &=l | wr
&1 1 qeHT H g QUHA 2 | .
HROT (R) : AT &A1 T TR & &
% TR H geRT H wh SR 2,
FTeAiTeh, WA W TaTeey T anfior &t i
T H wTEd) & H it E |
(A) (A) 3R (R) T A 2 3R (R) (A)
Heg=meneg |
(B) (A) 3T (R) ZHI §eA &, W (R) (A)
<! HEl AT TE R |
(C) (A) " g, Afehd (R) T 2 |
(D) (A) T &, Wfeh (R) T2 |
The death rate was found to be high in
the past in both developed and
developing countries. The reason for
the high death rate includes.
a. Poor sanitary conditions.
b. Recurrent wars.
c. Epidemics.
d. Malnutrition.
Select the correct option from the given
options.
a, b and c are correct
]8 b, ¢ and d are correct

a, ¢ and d are correct
D) a, b, c and d are correct

Aferep 1 g oft Sk
T Pk | 3 gg R H
%ﬁ‘mﬁm’%l e

a. TS @eaaiHl fRafd b, 3TEds Ig
c. WEMER d. U

feu T ferpedt o & Tt fomhed sl s |
(A) a,b3IMcHEE |

(B) b,c3dudi g |

(C) a,c3INITEE |

(D) a,b,c3NITHE |



97.

98.

Which of the following statements is
incorrect regarding the life table ?

(A) The life table, one of the most
powerful tools in demography, is
used to simulate the lifetime
mortality experience of a population.
This table is based on birth rates
and is abridged to display data at
ten-year age intervals rather than
single year.

Life table taking that population’s
age-specific death rates and
applying them to a hypothetical
population of 100,000 people born
at the same time.

This table is based on death rates
and is abridged to display data at
five-year age intervals rather than

ingl .
S ATy % g 3 e 3 A
HHATHIT AT S ?

(B)

©)

(D)

S |

(B) g TTcTohl 1 LI 3TTETNA 2 3R T
T o ST GF Y <l I h A T
321 el e % for aferm & |

(C) Sita drfetsht 38 TG hi 1Y -
forfRre 7oy ot it & 31 32 T &
gm ® 9 ¢ 100,000 AR I
e e T AN Hid! 2 |

(D) T TIfcTehT Teg T T TG & 3T TH
T o ST UTe |1 Shl 30 o ITalel

T ST TGRIA i o T HRTH 2 |

“Number of persons dying from the
disease/Number of persons contracting
the disease during a period x 1000 is
called

(A) Incidence Rate

(B) Prevalence Rate

(C) Case Rate

(D) Case Fatality Rate_ )

T © HA o] ARl hi T fopet
3 % SR SHRI I =9 § 31 a1l
R 6T HEAT x 10007 1 HaEd &

(A) T (B) THR T

(C) HA (D) 8 hefardt &

23
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(2)

(b)

(c)

(d)

(2)

(b)

(d)

Match the List - I with List - II and
select the correct answer from the
codes given below :

List—1 List — 11
(Word) (Meaning)
Abortion (i) The  number  of
Rate abortions per 1,000 live
births in a given year.
Abortion (i) The  number  of
Ratio abortions per 1,000

women ages 15-44 or
15-49 in a given year.

Anticatalyst (iii) The maximum

Policy sustainable size of a
resident population in
a given ecosystem

Carrying (iv) The policy of a

Capacity government, society,
or social group to slow
population growth by
attempting to limit the

ol ) T 3 T A

-I -1T

= feu 7T e @ e IW AT :

g -1 gt — 11
(=) @)
miome () ot o e e A wfd

1,000 Sffed Sl W
TV 31 HET |
efora (i) fgu MU s§ # wid
ST 1,000 wfgemsti
g 15-44 31 15-49
T hl HEAT |
ARt (i) TRl fqw . T
Fat A
JATeehaH e
ér«lﬁ % ' ED)
&HAT v a2
- ") F
Heh SEE g i
g wH & ToU
TR, Ul 9@
gmTiTeh Tg i ifd |

(A) (a)-(1) (b)-(i) (c)-(iii) (d)-(iv)
(B) (a)-(i)) (b)-() (c)-(iv) (d)-(iii)
(C) (a)-(ii) (b)-(1) (c)-(ii1) (d)-(iv)
(D) (@)-(iii) (b)-(iv) (c)-(1)  (d)-(i1)
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100. Read the given statements and select the

correct answer from the codes given below :

a. Mortality refers to deaths that
occur within a population. While
we all eventually die, the
probability of dying during a
given time period 1s linked to
many factors, such as age, sex,
race, occupation, and social class.

b. The divorce rate indicates the
number of divorces per 100
population in a given year.

c. Nuptiality refers to marriage as a
population phenomenon, including
the rate at which it occurs, the
characteristics of persons united in
marriage, and the dissolution of
such unions (through divorce,
separation,  widowhood, and
annulment).

d. Morbidity refers to disease and
illness, injuries, and disabilities in
a population.

Select the correct option from the

given options.

(A) a, b and c are correct.

(B) b, cand d are correct.

(C) a, candd are correct.

D) a, b, c and d are correct.

T YT i ¢ N el T T Fe

T HE I 61 AT

a. T S 3 HIAl ] GG Ll g Sl
TEE] o Hiqt Bt & | Jeih &
|l 3T TS 8, Th Hivad g
A o GRH WA ! GHEAT 37,
form, iy, SeEm 3K ameTs o
Y HE FRH A AT B S |

b. R <l & fopel Teu g oy ¥ wfd
100 SEEAT T qATh ! T I
Huckezcik .

c. Toame %1 aeRl e T % &9
4 foare | &, oo 97 o anive 2
58 o 7% 2 B, foemg § uhe
TRl o1 foRIwaTy, TR U8 &l o
fees  (qamh, e, fauemE
3R foreAToe o " 9) .

d. Il STEIE H U SR A, =
3R TS bt Heffd Fd 2 |

feu mmu forhedi # @ T forehed w1 @A R |

(A) a,b3McTLF |

(B) b,c3RdTHE |

(C) a,c3MdTEE |

(D) a,b,c 3N JTHE |
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101. Which of the following statements are

correct regarding urbanization ?
a. It is a demographic process.

b. Urbanization is related to the
decentralization of population in
towns and cities.

c. Urbanization is understood as a
process of net and relative growth
of towns and cities in the context of
a country.

d. An increasing part of the population
that lives in urban places.

Select the correct option from the
given options.

(A) a, b and c are correct.
(B) b, cand d are correct.
(C) a, cand d are correct.

(D) a, b, c and d are correct.

el & ey # ffafad o 4 w9

YHOTTE & 7

a. I8 Ueh SHATEIh TfshaT 8 |

b. YUl el R e | e
% ferchgentor @ Hefra 2 |

c. IE{RTU I ¢ % T | HE 3R
T % gg N wne fywm H
TR o ®9 T TS AT R |

d. &l T ° @ arelt SHEEn &
Teh el feed |

feu U faercat § 4 GEl foehed 1 ==A

HL |

(A) a,b 3 cE T |

(B) b,c3Nd=EE |

(C) a,c3INAEEE |

(D) a,b,c M JTEE |




102.

103.

Given below are the two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Select your

answer from the codes given below :

Assertion (A): Urbanization is a
behavioural process.

Reason (R): Urban areas, especially
large cities, are recognized as
centers of social change.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

i Q1 e T T 2, T ol AR (A)

3 GH =l T (R) % &9 H Ieorg fopar

TR | e feu e e & 3 SR gRT

AR (A) : IEHT Teh AT
gfshaT R |

FRO (R) : &0 &, fooiy §7 & w2
T A TR S %
F9 T TgHT AR |

(A) (A) 3R (R) S & & 31 (R) (A)
Flaf A= |

(B) (A) 3R (R) qH & &, Wb (R)
(A) 3! GE) ST T8 R |

(C) (A) TR, Wfeh (R) Teid 2 |

(D) (A) TTeTd 8, &fehd (R) I % |

What should be the size of the
population of any settlement in Canada
to be considered an urban settlement ?

(A) Population more than 5000.
(B) Population more than 2500.
(C) Population more than 3500.
(D) Population more than 1000.

& S A W % T At 7 fonet
oY a&dft & SHEET BT ATHR T BT
=T ?

(A) 5000 & 3Tfre TTEE

(B) 2500 & 37fereh @@

(C) 3500 & 3Tfereh e

(D) 1000 & 37fereh FaE
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104.

10S.

(a) Category—1 (i)

(b) Category -1 (ii)

According to the Census of India, which

one of the following is not a necessary

condition for the inclusion of any settlement

in the urban settlement in India ?

A) Population of at least 5000.

gB At least 75% of the working male
population should be engaged in
non-agricultural activities. )

(C) Where most of the population
%rates for short distances.

(D) ere the population density is
400 people per square kilometre.

WRd ! SFIUHT <6 AR, T

I |l Ueh Wi H vrell st | fopeht off st

1 T et o5 ToTT STTaverh 3 8 & 7

(A) T HH 5000 6 TTEEAT |

(B) H H HH 75% HIHehISTl oY TGl
TR—hfy Tifdferfera & @it @ =Mey |

(C) V&l JAferhiR SAETE! A gl o oIy
ST B 2 |

(D) & SHEEAT Bcd 400 Sk T o
fepetrieT 7 |

Match the List - I with List - II and select the

correct answer from the codes given below :

((I:Jist -1 ® Lislt -1I p
ategory opulation o
of City) City)

Cities whose
gopulatlon 1s
etween 20,000
and 49,999.
Those cities
whose population
is less than 5000.

(c) Category -V (i) Cities with a
2050 ang 5950, "
(d) Category-VI (iv) Thoslea 1%ities‘ whose
2 F[nﬁ 3 I1)8 goaolg?rlgorgﬁ_{
-1 -1 9 gHfad <hife
% T e | TE I AT :
~1 ~1I
QTR T Siuf) (ITER hl TTTEEA)
(a) ooft—1 (i) W R R e
20,000% 49,999 H R |
(b) s —1I (i) 9 TR FH FFae
50004 HA S |
(c) FM—V  (iii) 5000 32?@[9999%5%
JATSTG! STt T |
(d) Foft—VI  (iv) o3& Seeh S
100000 31 35 3fH 7 |
A ag- iii; b)- iig c)~(1) dg- iv)
&) (afiv) (o1 (St (aiih
D 33- }8 b)- i; ¢)-(i1) d3- ii1)
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106.

107.

108.

Arrange the following continents in
descending order according to the
percentage of urbanization globally.
(A) Asia— Oceania — Africa - Europe
(B) Asia — Europe- Oceania — Africa
(C) Europe — Asia - Oceania — Africa
(D) Europe — Oceania — Asia - Africa
Torva Tt TX STEdeRtuT < HfeTd o STHER
THfIRgd WETEEl i IElE H W
I i
(A) TRRET - SR - 35T - A
(B) TRRT - I - SR - 3T5hieh1
(C) I - TR - SRR - 315kt
(D) I - S - TR - 3nshis
What is the number of million plus cities

in India according to the 2011 census ?

2011 3 SFIUET % 3TIER WRA H ™

NG § ek w80 hl ST fehai & ?
(A) 35 (B) 9
(C) 53 (D) 46

Louis Mumford has mentioned 6 stages

of development of cities in 1938. Identify

these stages as the correct sequence of

Urban development.

(A) Iopolis - Metropolis - Polis -
Ternopolis

(B) Ternopolis - Metropolis - Iopolis -
Polis

(C) Iopolis - Polis - Metropolis —

Megalopolis
(D) Iopolis - Polis - Megalopolis —
Metropolis
39 TR 4 1938 H TR o foe
6 ST HT oo R & | TR
fohr < @l A 6 €9 | 3 SrEEe
&I ggaH HIfT |

(A) 3AIfeE - ASOIfE - Tt -
Zataifera

(B) AIfTE - BEIfeTd - 33naiferd
- qiferd

(C) z3miferd - wiferd - Agmafed -
WA TH

(D) ga3fiferd - Tiferd - Terraifore -
Tgrifera
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109.

110.

Match the List - I with List - II and
select the correct answer from the
codes given below :

List—1 List —1I
(City Name) (Function of
City)
(a) Jakarta (1) Defensive
Town
(b) Birmingham  (ii)) Administrative
Town

(c) Cambridge
(d) Peshawar

(i11) Cultural centre
(iv) Production

centre
%ﬂ éQ a:ﬁm ?}%ﬁ él ¥ ﬁﬁﬁgﬁgﬁﬁq 3R
A -1 g - 10
(I <hT ATH) (IR HT HH)
(a) ehral (i)  TETcHeh |
(b) wftfem (i) SIS TR
(c) Hfet (iii) |TERfaeh g
(d) dsmeR (iv) 3cTed g

(A) (a)-(ii) (b)-(iv) (c)-(ii)) (d)-(1)
(B) (a)-(ii) (b)-(iv) (¢)-(i)  (d)-(iii)
(©) (@-() (b)-(i)) (c)-(iii) (d)-(iv)
(D) (a)-(iv) (b)-() (c)-(ii) (d)-(iii)
According to the rank size rule, the
size of the 10™ order largest city will
be compared to the largest city.

(A) will be 1/5 of a large city in size.

(B) will be 1/20 of a large city in size.
(C) will be 1/10 of a large city in size.
(D) will be 1/40 of a large city in size.

Hife ABR F=m o IFER, 1049 7 &
TEH S W& o 3R <hl o1 Tod 519
I Y Y A |

(A) TR H &S T HI 1/5 B |

(B) TSI H & W& I 1/20 BT |

(C) 3R T &< &L hT 1/10 BN |
(D) TSI H &S T HI 1/40 BT |



111. Which of the following statements are correct

regarding Center Place Theory of Christaller ?

a. Christaller based his centre place
theory on secondary activity.

b. Christaller's theory is based on the
regularity measured in the study
of the centre of North Germany.

c. Christaller's theory is based on the
exploratory design of the spatial
arrangement of activities and markets.

d. The service area or market area of
the centre of Christaller's is not
circular but hexagonal.

Select the correct option from the given options.

(A) a, b and c are correct.
(B) cand d are correct.
(C) aand c are correct.
(D) b and c are correct.

foRegior & g WN fagia & gy ¥

frefafga i e s w8 7

a. TrierR 3 fgdias frampemm @
39T <hgwore fagra smerfid feram |

b. TREgieR 1 Tigi 3l ST % g
31e 1 AT 7T Tefiear w s # |

c. Tregiorn =1 g nfafafmi 3k
FISTRT <h! LTI ST o Giergot
feSmga w anai@ 2 |

d. ToRior & hg o1 T &1 91 9k
&1 TICTThR T8l Sfesh NIV ¢ |

Teu TTu forsped o & T foshed w1 =9 & |

(A) a, b3 c T E |

(B) ¢ ARATEE |

(C) a3 cHAE |

(D) b3 cTEE |
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112. In the concentric ring theory related to

urban land use, select the correct sequence
of urban land use and select the correct

answer from the codes given below :
(1) Central business district

(i1)) Zone of working man house
(i11) The commuter’s zone

(iv) Zone of transition

(v) The zone of better residence

Select the correct option from the

given options.
T i W | wefid g aod
forgia ® rh yiftr ST % wEt o
T L a1 = 7T T e ¥ FE W
T T

(i) hera =R e

(i) =k B9 BT 1 &

(iii) HEIE HT &

(iv) TshATT T &

(v) SER e &1 &

few e foepedt & & Tt foreheq 1 A R |
(A) (1), (iv), (v), (iid), (i1)

(B) (©, (ii), (iii), (iv), (v)

(©) (), (iv), (i), (iii), (V)

D) @, (iv), (i1), (v), (iii)
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113. Given below are the two statements, one

labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A) : After the Industrial
Revolution, Europeans settled in North
America, Australia, New Zealand,
South Africa and many regions of
South America.

Reason (R) : After the Industrial
Revolution, Europeans started
establishing colonies in underdeveloped
countries and started exploiting their
resources.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

f= o % feu U 8, w1 rfienem

(A) 3 G I HRUT (R) o &9 H IociE

Tore T 7 | i QU TTT e | ST IR

T

AR (A) : 3l hifd & &g

fite, gt aThient 3T gféqor smifteRT

% %3 &1 H 59 7T |

RO (R) : 3TEIER T o sTe, U

AR 3 Afoehiad un | Iuew Tifud

FHET IE K e 3R 376 GEeEt w1

Q& AT T T Fe |

(A) (A) 3R (R) 31 & § 3R (R) (A)
1 TE AT R |

(B) (A) 31 (R) GF & &, AT (R)
(A) g =R TE B |

(C) (A) T 8, Afehd (R) Tetd & |

(D) (A) 7T &, <feh (R) T 2 |

23 (Population Stu.)
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114. Match the List - [ with List - I and select the

correct answer from the codes given below :

List— 1 ist — 11
(Types of (Characteristic)
migration)

(a) In-migration (i) Population
moving outside
the
administrative
boundaries of a
country.

(b) Emigrants (il) Population
moving outside
the
administrative

boundaries of a
state in a
country.

(i11) Population moving
within the
administrative
boundaries of a
state in a country.

(d) In-migrants (iv) Population

moving within the
administrative
boundaries of a

(¢) Out-
migration

(a) sqrr@w (i) Ferelt cm
mﬁﬁ‘eﬁmaﬁ
% S SHEE
ST YT |
(ii) ferell <=1 # fereil
T <hl JemEHeh
it S B F
TG 1 99 |
(111)1(3!5@[@13[1%!5@
EIRRIESIECD

Fﬁmaﬁ % |
TG 1 99 |
(d) -H1UHE (iv) Tordl qm <kl
erE e HaTs
& ia S
ST YT |
(A) (a)-(iii) (b)-(i) (c)-(iv) (d)~(ii)
(B) (a)-(iii) (b)-(1) (c)-(i1) (d)-(iv)
(C) (a)-(i) (b)-(ii) (c)~(iii) (d)-(iv)
(D) (a)-(iv) (b)-(ii) (c)-(i) (d)-(iii)

(b) IcyaTiEi

(c) 3AR-



115.

116.

Which of the following is not included in

the law of migration given by Ravenstein ?

(A) The majority of migrants go only
a maximum distance.

(B) Migration process happens step by step.

(C) Large towns grow more by
migration than by natural increase.
(D) Most migrants are adult.
3R dfoaifeq yare o fw
ﬁw%fﬁaﬁ H Y HIF 91 A T 8 ?
(A) aﬁ%mém Fadt srfrman gt

(B) T shl TfshaT =0T < =0T Bl & |
(C) S W& WTehiaeh gfg hl gol
o & S TG |
(D) 3AThTIT JaTHeh T & |
Given below are the two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :
Assertion (A): Acidification is a major
problem of environmental degradation.
Nitrogen oxide, sulfur oxide, nitrous
oxide are mainly responsible for the
formation of acid rain.
Reason (R): Globally, the use of fossil
fuels and industrial processes are
growing rapidly.
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) s false but (R) is true.
= g1 e fer e Qa;ﬁ

3¢9 i3S

T (R) : fovg TR X, GﬁaméatrsﬂI

SRR 1 ST A

i A

(A) (A) AR (R) TETEA (R) (A)
H o AT R |

(B) (A)ﬁI(R)atﬁW% ﬁm(R)
(A) ! Tl =rEA Tl

(C) (A) T g, dfeh (R) amq 2

(D) (A) Terd 2, (R)¥H 27 |
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117.

- 118.

Which of the following statement is

not correct ?

(A) Development is a process in
which potential regional resources
are brought to full productive use.

(B) Action whose objective is to raise
the rate of economic growth is
called development.

(C) Development is comprehensive
and includes every sector, region
and aspect of life.

(D) Development is a condition, not a

rOCESS.

T T $H O HYT T T 8 7
(A) o s ufsren 3 fam wfea
&1 TETYE] 1 QU IcdTesh ST
T AR |
(B) = Toren froepr 3ewa anfder fepm
1 G h! TG 7, T FEera # |
(©) %lwm%sﬂ?saﬁsﬁa‘—r%st
&, T 3TN Tge] ;M 2 |
(D) Terehra wh 3rerer 7, afekam 7 |

Which of the following statements is
correct with respect to Gross National
Product ?

(A) It is the value of the total production
of all goods and services in a
country at a given time.

(B) It is the wvalue of the total
production of all agriculture goods
1n a country at a given time.

(C) It is the wvalue of the total
production of all productive and
non-productive goods in a country
at a given time.

(D) It is the wvalue of the total
production of all primary goods
and services in a counfry at a
given time.

Heohed TP 3cITE o Hay T ffoailaa A

AP AHHARE 7 .

(A) T8 U Fifvea o § o 1wt g
AR YA o Fe IcdTed B e ¢ |

(B) %@ﬁfﬁawﬁéﬁﬁwaﬁ

SACAHI A S |

(C) a% EEB qud fr oo o oY
IcATEeh 3R ITITGH I3 o Hd
mwwj?

(D) I8 T fifvaa aog § ow A &fi
e aEqan 3R AaNsti & Ha
I HT A & |
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119. Given below are the two statements,

one labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : Japan is a developed
country in the continent of Asia. In this
country industries based on skilled
labour have developed the most.

Reason (R) : There is a shortage of
raw malleable material required for
basic industries in Japan. Japan's main
resource is its population and
workforce.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

F2 g wua fou Tu E, ue i rfireReH

(A) 3 G I HRUT (R) o &9 H Iocid

Torem T 7 | i QU TTT e | ST IR

EELE

AR (A) : TRET 9EEY § SUH

T fohia o 7, 39 <9 § $I 49 W

T JeT <Rt Haifereh forhr gaTT 2 |

FROT (R) : SIH § g 3 o fog

A el H1F A AT FH 7 |

ST <61 G THIEH $Heh! SHa@ 37

HETAR |

(A) (A) 3T (R) EHI T 7 3R (R) (A)
L AR |

(B) (A) 3 (R) T & €, Wl (R)
(A) < T ST T © |

(C) (A)TT B, AfhT (R) Tord 2 |

(D) (A) 7TeTd &, e (R) T ® |
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120. According to the Human Development

121.

Index-2010, which of the following
parameters are not included in the
Human Development Index ?

(A) Life Expectancy Index (1/3).

(B) Health Index (1/3).

(C) Education Index (1/3).

(D) Income Index (1/3).

BICE] EHH-2010 AN
frfefad # @ F @ e Ame
forepre wyarehies  wmfiret 7 € 7

(A) Sffer ST Ferhrh (1/3)

(B) &R DT (1/3)

(C) fream g=rehieh (1/3)

(D) 3™ Ikt (1/3)

Match the List - 1 with List - II and

select the correct answer from the
codes given below :

List—1 List — 11
(Types of (Name of
Natural Resource)
Resources)
(a) Commonalities (i) Oxygen,
Resources Nitrogen
(b) Rarities (i) Gold,
Resources Silver
(¢) Uniquities (i) Agriculture
Resources land, water.
(d) Ubiquities (iv) Commercial
Resources crayolite,
kolambite.
gt-1 o -1 § gAfea Hie 3k
el feu T e @ wE ST g
L | = — 11
(STTehfceh wEet (T
% TER) )
(a) FAGAY THIGT ()  SATRAISH,
. KER J
(b) Gei HETEH (i) @, 3
(c) AfgdT TAET  (iii) BN W, I
(d) T TEEA (iv)
TS,
HIAETEE

(A) (a)-(iii) (b)-(ii)
(B) (a)-(iii) (b)-(ii)
(C) (@-(1) (b)-(iD)
(D) (@)-(iv) (b)-(i)

(c)-(1)  (d)-(iv)
(c)-(iv) (d)-(1)
(c)-(iii) (d)-(iv)
(c)-(i)) (d)-(iii)
o



122.

123.

Which of the following group represents
the renewal resource group ?

(A) Gold, Uranium, Coal, Tin
(B) Oxygen, Oil, Boron, Gypsum

(C) Forest, Agriculture land, Solar
energy, Wind energy

(D) Solar Wind
Phosphate, Tidal energy

frfafgd o & *F @1 9qg Tl
TG |g 1 AT S g ?

(A) |, =, HEe, f

(B) SATisH, 3ATae, S0, forem

(C) =4, Y fH, TR 1, o St
(D) ER T, TaH SHll, Biehe, S Sl

energy, energy,

Resource conservation done by
National Park, Wildlife Sanctuary, and
Wetland can be included in which
category of resource conservation?

(A) Species conservation

(B) Habitat conservation

(C) Land use conservation

(D) Creative conservation

Y ITM, TG SATIRY TS ST
T TRY IH ol HETEA W
T T hi fohd oft # et fopan
S HHATE 7

(A) ST |0

(B) SATETH EET0T

(C) fEr 39T TReqor

(D) TEATcH &I
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124. Which specialty can be included in the

concept of under population in the study

of population-resource relationship ?

a.  When the population of an area is
very less in terms of the use of the
resources of that area.

b. When the resources of an area are

capable of supporting more
population than its current
population.

c. When the development of
physical resources of an area does
not match the pace of population
growth.

d. In which the highest quality of life
is achieved.

Select the correct option from the

given options.

(A) aand c are correct.

(B) cand d are correct.

(C) aandb are correct.

(D) b and c are correct.

TTER-TEEE HEY o ST H

AL bl 3raemon § forg fergraan

1 TS fRaT ST FhaT & 7

a. 9 fopet & i SHEET 3| & %
TEYET o ITANT i 3T F §5d HA
|

b. & fhet &3 & TwgA aduH
GG 1 T § ST e
T YOT-TINT T H T Ed § |

c. <9 Tt & & wifoes gEmedi &
o SN gfg it 1fd ¥ 79
TR @R |

d. fem Sfiea 6t sway e gt
EIEICIES

few U foepedt #§ © w&E forshed w1 ==

|

(A) a3 cTd & |

(B) c3MJITHE |

(C) a3MbEE |

(D) b3McTHE |
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125. Match the List - I with List - IT and select the
correct answer from the codes given below :

List—1
(Tools of
Demography)

a. Count

b. Rate

c. Ratio

d. Constant

b. &

c. JAUId

List—II

(Meaning)

1. The frequency of demographic
events in a population during a
specified time period is divided
by the population “at risk” of
the event occurring during that
time period.

ii. The absolute number of a
population or any demographic
event occurring 1n a specified
area in a specified time period.

iii. An unchanging, arbitrary
number by which rates, ratios,
or proportions can be
multiplied to express these
measures in a more
understandable fashion.

iv. The relation of one %)opulation
subgroup to the tota
population or to another

subgroup; that is, one subgroup

divided by another.

i 3

(A) (a)-(ii) (b)-(1) (c)-(iv) (d)-(iii)
(B) (a)-(ii) (b)-(i) (c)-(iii) (d)-(iv)

(©) (a)-(1)

(b)-(iv) (c)-(iii) (d)-(ii)

(D) @-(@v) (b)-() (o)-(i)) (d)-(iii)
23 (Population Stu.)
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126. Select the correct statement regarding

total fertility rate and select the correct
answer from the codes given below :

Statement — I : Globalization refers to
the global expansion of commercial
-business

activities based on

market-oriented economy.
Statement — II
inequality will increase due to the
commercial-business  upliftment

¢ Economic-social

through globalization.

Select the correct answer from the
codes given below.

(A) Both Statement I and II are correct.
(B) Statement I is true.

(C) Neither Statement I is correct nor
Statement II.

(D) Statement II is true.

P TSI & oh T H &l B T 94
H 3R A fer T Fe @ T W H
T B

oA — [ : o0 IWR 3@
AT F YR W STTRIh-
SR Mfdfafer % afvaw o o1
HefHd a2 |

A — I : dfvsshor o "= 9
oS -SAEEie 3 % R
3nfeieh—gmaTtoreh STEmaT ST |

e feu Tu e & Tt IR T B

(A) U 13RI T E |

(B) S [T R |

(C) a1 YT [ T 8 3™ 7 & e 11

(D) FHFH 2 |



127. Which of the following statements is

correct with respect to Tribal Area
Development Programme ?

(A) Tribal Area Development
Program is a statutory act
implemented in 1980.

(B) Tribal Area Development
Program is mainly aimed at
increasing the development level
of tribal areas and other areas.

(C) The Tribal Area Development
Program  mainly aims  at
increasing the standard of living
of tribesman by increasing the
development level of tribal areas
and other areas.

(D) To work out the difference
between the economic and social
development level of tribal areas
and other areas.

ST & faehE SEisRe 6 Hey o

frafafaa i a PR H T ? 7

(A) ST & forehTa SRl 1980
AN Ueh derfes Stfefem R |

(B) ST & forehre hishd & &Y
U TS &l 3R A &l *
P T A TR H T AR |

(C) ST & fershr sk 1 Ied
T &Y Y ST S 3T 37 &
o TorepT T T STt STfeanfa <
e TR TR |

(D) ST & 3R 3= & %
afier 3 amTioes foehra =W
&1 3T 1A A o (oTT |

128. Match the List - I with List - II and
select the correct answer from the
codes given below :

List—1 List —1I
(State) (ST
population
% in 2011)
(a) Arunachal (1) 86.1
Pradesh

(b) Meghalaya (i) 94.8
(c) Nagaland (i11)) 68.8
(d) Lakshadweep (iv) 86.5
G-I ! -1l § GAfea hHie 3R
el fow ¢ e W wEl I IR ;
T -1 T - 11
(=) (2011 ®
e ST
T %)
(a) IUTEA T (1) 86.1
(b) HuT (i) 94.8
(c) TS (iii) 68.8
(d) dega (iv) 86.5
(A) (@)-(1) (b)-(iD) (0)-(iil) (d)~(iv)
(B) (@)-(i) (b)-(1) (o)-(ii)) (d)-(iv)
(©) (@-(ii)) (b)-() (c)-(ii) (d)-(iv)
(D) (2)-(ii)) (b)-(1) (c)-(iv) (d)-(ii)

129. According to the 2011 census in India,

33

how many tribes are included in the list
of Scheduled Tribes ?

YR H 2011 3 SOFT IR
Ffaa Sl i g § feRaHt
SISTTRI <l STTHE foham TR 8 2
(A) 650 (B) 750
(C) 550 (D) 350

23 (Population Stu.)



130. Match the List - I with List - II and
select the correct answer from the code
given below :

List-1I List — 11
(State) (Child Sex Ratio in
2011)
(a) Jammu and Kashmir (i) 862
(b) Tamilnadu (i) 943
(c) Goa (iii) 942
(d) Gujarat (iv) 890
A1 w1 g F gafea A i
= e T e @ wE S IHT
T -1 A - 11
) (2011 ¥ forgy
fefmrgoma)
(a) g st et (i) 862
(b) afierTg (ii) 943
(c) i (iii) 942
(d) Tea (iv) 890

(A) (a)-() (b)-(i)) (c)-(ii)) (d)-(iv)
(B) (@)-(i)) (b)-() (c)-(iii) (d)-(iv)
(©) (@)-(ii) (b)-(1) (c)-(iD) (d)-(iv)
(D) (@)-(iii) (b)-() (c)-(iv) (d)-(i1)
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131. What were the main features of the

National Health Policy-2002 ?

a. Private health insurance packages
are proposed to be encouraged.
The policy highlights the roles of
NGOs and other institutions of the
civil society in the health sector.
NHP 2002 will assess the quality
and efficiency of the existing
public health system in the field.
The policy calls for adoption of a
contemporary code of ethics by the
Medical Council of India to ensure
that patients are not subjected to
profit-driven medical treatment.
Select the correct option from the
given options.

(A) a, b and c are correct.
(B) b, cand d are correct.
(C) a, cand b are correct.
(D) a, b, c and d are correct.

TE w@ree Hifd-2002 i &7 foerand

b.

T ?

a. Toft ey g Seha o1 TicTieq
FAHIEAE R |

b. Ig ifa TaTeey & T T TRl TireAl
3R ANTIER THST o 3T LML hl
HeRT3T O SThTST ST & |

c. TATEY 2002 & H HISGl HESA
e YOIt hi T[UTeT 3R gataT
T JThed BT |

d. I8 Hifa wrd fafean ftwe g

T THHCH AR Giedr ol
HAYH I AN HA g dih I8
giifeaa feen s o T afirn =
AH-gafd fafehedr IR &+
arefia 7t fepam ST B |

few T foeredt 1 @ G} fehcd 1 TR |

(A) a, b3 c T F |

(B) b,c3Mdad g |

(C) a,cIARbTRE |

(D) a,b,c ALI T2 |



132. According to the New Population

Policy of India 2000, it is not included

in the medium and long term

achievement.

(A) To provide compulsory education

to all the children of 14 years.

(B) To make arrangements to register
every birth, death, pregnancy and

marriage.
(C) To
mortality rate related to pregnancy

below 100 per lakh.

bring down the female

(D) Bringing the total productivity
rate to the replacement level of

3.1.

qRa i T smEen fifd 2000 %

AIER W T Geeheid IuAted H

afttrfera & 2 |

(A) 14 a9 & Teft == ot Afam fvem
e T |

(B) s S, gog, THiee R foamg
! TS{hd i 3hi ST AT |

(C) TIvTEE & FEfia Afgen 77 X !
100 e 1@ | = & o fora |

(D) BT IcaTeehdl &L i 3.1 o Taemod

TACYL AT |
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133. Given below are the two statements, one

labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A) : Developing Nations
are passing through a phase of
population explosion.

Reason (R) Some developing
countries like China, India, Pakistan
have started pursuing social policies
for family planning ahead of the family
planning program.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

= g %A feu U E, ue @ A

(A) 3 GBI HRUT (R) &9 H Iooid

fopem e B | i T TTT e & 37T ST

g

Aftrem (A) : foemsiier <o S

frepe F RNATTREE |

WHROT (R) : <, YA, ITThed™ S8 $S

Toreprasfier <t 3 ufer faem ety

T ygt yiEr fem & oo amnfses

Hiferrt =1 uTer ST IE A fe 2 |

(A) (A) 3 (R) GHI & & 3 (R) (A)
L AR |

(B) (A) 3R (R) GHi & €, Wfehd (R)
(A) ! € ST TE R |

(C) (A) TH B, AAfhd (R) TeTd 2 |

(D) (A)TTeId &, Wb (R) T # |

23 (Population Stu.)



134.

135.

What is the fifth goal of sustainable
development goals-2016 ?
(A) End poverty in all its forms

everywhere.
(B) End hunger, achieve food security
and improved nutrition and

promote sustainable agriculture.
(C) Ensure healthy life and promote
well-being for all at all ages.

(D) Achieve gender equality and
empower all women and girls.
Tad feeem & @&di-2016 (sustainable
development goals-2016) T Ur=al

AL RIE ?

(A) & g 319+ gyt ®ai J e T
i |

(B) Y@ < WcH HTT, TR G 31
SEA TN A ST 3R et
Y I FETET T |

(C) Ty Sfiaa ghifead sl 3t avft 3w
T aeft & foTw e B SeE ¢ |

(D) <ifireh THFAT BT SHEAT 3R Teft
Aleeati SR ASfRAl I wRrE
M |

What is the seventh goal of Millennium

Development Goals-2000 ?

(A) Eradicate extreme poverty and
hunger.

(B) Promote gender
empower women.

(C) Ensure environmental sustainability.

(D) Combat HIV/AIDS, malaria and
other diseases.

ggafe fasbmm @&I-2000 H1 Graat

AT FTR 7

(A) 3Tcferss Te 3TN @ 1 T T |

(B) “ifieh TWMAT &l &@m&l &1 37
AfEeATA ! LT ST |

(C) wtervfty feemar gifeea i |

(D) TIATEH / UgH, TR 3 3=
ST T GehTeett ST |

equality and

23 (Population Stu.)

i

H

138.

H

36

136.

137.

The full name of NITI Aayog is

(A) National Institution for Transition
India.

(B) National Institution
Transforming India.

for

(C) National Institution for Testing
India.

(D) National Institution for Tracking
India.

Hifd s s AT B

(A) 9 ST ®R e sfean
(B) e SEICTEH Bl e gfea
(C) Tre ST Wit <fe gfean
(D) e S R gfehm gfear
Bhore committee is related to

(A) The  Regional
Committee.

Development

(B) The Population Control Strategies
and Development Committee.

(C) The Health Survey
Development Committee.

(D) The Health Survey
Distribution Committee.

TR |itrfa o1 gee 3

(A) &t foepma afifa

(B) SaE frser wrtfeat am fommm
Ty

(C) Tameed gaierr 3R foeprar aftrfar

(D) ey Haer 3R ferawor @it

and

and

When was the Mukherjee Committee
first constituted ?

@S GiHfd 1 Ted Tga S) el gl
a1 e
(A) 1963 (B) 1966
(C) 1980 (D) 1985
o



139.

140.

The main aims of the Research are

(A) Research is to discover answers to
questions through the application
of scientific Procedures.

(B) Research is an academic activity
and as such the term should be
used in a technical sense.

(C) Research in common parlance
refers to a search for knowledge.

(D) Research is to find out the truth
which is hidden and which has not
been discovered as yet.

Y % 7T 3299 &

(A) TTEUH A TfRaTT o weam
T Y o ST AT |

(B) IIEYM Ueh IFehlgiyeh Tafafer 8
3T 3H TG & Ve hT dhriteh! 371
T 39 fopar ST =R |

(C) W diead B FAqEIH FH I
IS ! Hefid LT § |

(D) FTEYH 39 T8 I Idl T 7
i fegdt g8 2 3 & aneft aes @i
TR |

Conceptual research are related to

(A) Conceptual research is that related
to some abstract idea(s) or theory.

(B) Conceptual research is based on the
measurement of quantity or amount.

(C) Conceptual research is finding a
solution for an immediate problem
facing a society.

(D) Conceptual research includes
surveys and fact-finding enquiries
of different kinds.

JaTies oy foRey weEfua § ¢

(A) d=INH MY 98 & S H© I
foari o1 faga @ gefa g |

(B) S=Tiies SN | AT ART & AT T
G 2 |

(C) I=Tiieh 3N Teh THTS o T Teh
TehTel TSI 1 HHTIH 43 &1 8 |

(D) <Titeh e 7 fafir TehR & Haem
T A2 - ST YRATS I & |

37

141.

142.

What is the first step of the research
process ?

(A) Extensive literature survey.

(B) Developing the hypothesis.

(C) Preparing the research design.

(D) Formulating the research problem.
IITET TSR3 <1 YW RO TR 7

(A) SIS HTTET TR0

(B) UTeheaT b1 farehd &3 |
(C) IHYT TESIE = T |
(D) TEUH TS IR HET |

What is the meaning of “extraneous
variables” in research?

(A) Independent variables that are
related to the purpose of the study
but may not affect the dependent
variable are termed ‘“extraneous
variables”.

Independent variables that are not
related to the purpose of the study,
but may affect the dependent
variable are termed as “extraneous
variables”.

(B)

(C) Phenomena which can take on
quantitatively  different values
even in decimal points.

(D) When a prediction or a

hypothesised relationship is to be
tested by scientific Methods.

IFHIH § “aTelt T R A7 7

(A) Tad T S FEA b IJLT |
el 8, Wfehd AT = o
" FHFACE |

(B) Wad =W Sl AT F LW A
et &l 8, wifehd 3T =X o
JHIIT L Thd 7, 3 “aTEd T/
HE A2 |

(C) uel S R fogai o off
TTATcH &9 8 e I o Fehell 2 |

(D) & Ueh Wisaoft AT Weh qieheuHT
GEY T I alehl & THE
IERIESIEIER

23 (Population Stu.)



143.

144.

Which of the following is not a source

of primary data collection ?

(A) Observation method

(B) Interview method

(C) Technical and Trade Journals

(D) Through schedules

frfafad 5 @ = @1 wUfies 321 U
1 HIA TR 3 ?

(A) AT fafy
(B) HneiTehR fafy

(C) Teh1ehl 3R SR afehrai
(D) ATEEI o 71ed 8

In the context of data intervals, there is
an example of Inclusive type class

intervals.

(A) 10-20,20-30,30—-40,40-50
(B) 11-20,21-30,31-40,41-50
(C) 1-7,8-15,15-30,30-45
(D) None of these

2 HAA o GeH H, THER THR
T ST hT Teh IETEA B

(A) 10-20,20-30,30—40,40-50
(B) 11-20,21-30,31-40,41-50
(C) 1-7,8-15,15-30,30—-45

(D) 31 & 1S T

23 (Population Stu.)

38

145.

146.

Sampling is related to :
(A) It is just the process of obtaining

information about an entire
population by examining only a
part of it.

(B) It is the process of obtaining and
distributing information about an
entire population.

(C) It is the process of obtaining

information about an entire
population by examining it.

(D) It is the process of obtaining
information  about a few
populations by examining only a
part of them.

BlEREEARCER

(A) T8 hercl Th feedl 61 S hteh 0
JATETET o SR H SR STH i hi
iR 2 |

(B) 9§ qt 3TMETET o SR H AR T
A IR forafid s H ufsr 2 |

(C) 98 V9 & qft 3TeT o aR #
ST SITH S 3hi IfsRaT & |

(D) F& B JATE o heel Th el hl
S Hh THHRI T HA h
iR 8 |

The full form of GIS is

(A) Geographical Intelligence System
(B) Geographical Introduce System
(C) Geographical Information System
(D) Geocoded Information System

ST3ATSTE 1 qul €9 8

(A) TSamnfheret seforaa fawen
(B) fSmmfteerat sgieay foeen
(C) TorRrmfhehet ShIHM foeed
(D) TShIgs shineH foaen



147. The spatial data set is characterized by

148.

(A) Special data sets describe the non-

location features.

(B) Special data sets describe the

locations of spatial features.

(C) Special data sets provide the data

non - position data.

(D) Special data sets provide the large

storage size of data sets.

Tk 321 We 1 foraivar B

(A) TRty Se1 oie - wifaes glaeans
HTIUE A 2 |

(B) Tomiy g1 T Tifeh gfaemsti &
T o1 90 LA # |

(C) fomiw 21 e M-feufq 21 wem
HAE |

(D) oIy 21 Ae, BT I & L WeNY
1 TR TGH HLd 4 |

Which of the following is not an

example of vector data ?

(A) Point features (B) Line features
(C) Image features (D) Area features

frafafgd & @ @R @1 9% g H=
SETETI TE @ 7
(A) U5 B
(B) s =™
(C) 38 hi=d
(D) TR b=

149.

150.

A compound line graph is represented

by

(A) To display the sum of data and its
various components.

(B) To make a comparative drawing
of different subdivisions of a
number or value.

(C) To display the three components
or variables of the data.

(D) To compare two or more
dependent quantities graphically.

T HMEE W AT BRI g

ST & |

(A) BT 3R 3Tk fafir weeht &1 amT
e & o fow |

(B) Torelt T = e < fafim Suwst
1 GATcHS ST - o 1T |

(C) =1 & ofiF Teehl A1 = JeRid Hid

o fore |
(D) Tftheh &9 | < A1 Q1 & 3Afees fl
AT =1 o1 i o foTe |

What is the meaning of geo-

referencing in GIS ?

(A) Assigning an image its exact
latitude and longitude.

(B) To find the root mean square error
of an image.

(C) Finding the length and width of an
image.

(D) Live tracking of an image.

Semsea § y-Te H R A 7 ?

(A) Toh SHS ! Tl &Y FN I
fAfds = |

(B) T 3HS % WA WA o FE B
@ie o foTu |

(C) T U h TaTS IR TISTE G |

(D) Teh 3 1 ATES SfehTT AT |
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